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IGNITE GEN.STUDIES & CSAT

Dean Qbpeaks

Dear students,

This year too, UPSC lived up to its reputation among students of being the 'UnPredictable
service commission'. As per the candidates, who appeared for the exam the paper appears to
be on the difficult side as most of the questions were seemingly appearing to be out of box.
Further most of them felt that the questions were application based as they touched on the
recent developments and questions from science and technology, economy and polity were
influenced by current affairs.

Let’s decipher nature of the questions from various sections

Economy questions were conventional type and were slightly tricky, as some questions such
as Foreign Direct Investment, call money, commercial paper and Minimum support Price
required applied knowledge of students. The factual nature of the questions that was the
norm until last year underwent a change as the questions this year are more conceptual in
nature and they tend to test the students ability to understand the nuances of the topics.

The dominance of environment based questions ebbed as this year we saw around 14 direct
environment based questions. The questions were better distributed across topics and
subtopics. This played a positive role as candidates were not rewarded or punished based on
his/her individual strength or weaknesses.

Polity questions are very easy as most of the questions can be answered by reading any
standard book. Barring questions on MPLADS and NLSA most of them can be answered with
ease.

Science and technology as always is a challenging facet of prelims as it involve deeper
understanding of concepts. This year questions on biotechnology were asked clubbing both
current and conceptual aspects. Questions on Drones, Solar Pumps, Carbon Nanotubes do
fall under difficult category.

Geography weightage this year has reduced, continuing with the earlier trend there were
ample questions based on map which reminds us on the importance of integrating map
based approach while studying even conventional geography syllabus.

History and Culture are certainly the most challenging area of this years prelims exam. The
emphasis on cultural history is emerging as a niche area for most of the questions. Modern
India questions are relatively easy.
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Lastly Current Affairs questions are being increasingly clubbed with conventional topics. And
even history questions are picked from news articles. An apt example of this trend is
question based on Rakhmabai case of 1884 which was in the news off late.

Strategizing 2021 Prelims

Clearing prelims requires thorough understanding of the syllabus along with acknowledging
the nature of the questions. An intensive reading of this year prelims questions is mandatory
for aspirants. Newspaper reading is of paramount importance. Rather than relying on band-
aid solutions such as last minute random current affairs materials, a candidate is expected to
focus on PIB website, Government websites and any standard newspaper every single day.
Integrating static with current developments is a must.

Static questions off late are becoming tricky. It may appear there are few questions from
these areas but the base of most of dynamic questions is static section to some extent.
NCERT is the most authentic source. Ignore NCERTSs at your own peril.

Meticulous understanding of Economic survey and budget document is necessary. Especially
the concepts that are mentioned in the survey (this year question on Interest Coverage
Ratio) are very important. Focus on the trade dynamics extensively covered in the survey.

Polity cannot be ignored. Questions may be easy this year. However questions can be
twisted and examiner can always trap candidates who read polity superficially. Read Ignite
material or any standard book at least for 5 times before appearing for prelims examination.

History and culture may appear to be difficult. However this may not be the norm next year.
Read all NCERTS including the old editions which cover ancient and medieval in a
comprehensive manner. Donnot overdo history by reading random books in the hope that
even difficult questions could be answered. Standard books or Ignite materials would any
day cover atleast 90% of the questions.

Geography questions are becoming more factual in nature. Keeping up with trend,
integration of map with the syllabus is an apt strategy. Similarly Environment preparation
has to be integrated with current developments.

e

_—

A.N.REDDY
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UPSC IAS Exam Analysis 2020-Paper 1

Subject

History and Culture

Static GK and Current Affairs

India and World Geography

Economic and Social Development (Including
Current Development)

Environment & Ecology (Including Current
Development)

General Science and S&T (Including Current
Development)

Indian Polity and Governance

Total Questions

UPSC IAS Prelims Paper 1 Exam Analysis 2020 (Topic-wise)
1. General Science & Technology

e Steel slag can be the material for which of the

No. of
Questions

19

19

18

14

18

100

Difficulty Level

Moderate to
Tough

Moderate

Easy

Easy

Easy to
Moderate

Moderate to
Tough

Very Easy

Overall -
Moderate

e Consider the following statements:1. Coal ash contains arsenic, lead, and mercury. 2. Coal-fired power
plants release sulphur dioxide and oxides of nitrogen into the environment3. High ash content is

observed in Indian coal.

e India's National Policy on Biofuels, which of the following can be used as raw material

e Solar Pumps

e Carbon Nanotubes

e Genetic Change

e Pneumococcal Conjugate Vaccines in India
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e Pesticides
e Plant and Animal Cells
e Benzene Pollution

2. History

e With reference to the cultural history of India consider the following pairs
e With reference to the period of the Gupta dynasty the town Ghantasala, Kadura and Chaul
e Match the following terms with their meaning

e Industrial Revolution on India impact

e Pala Dynasty/ Pratiharas

e Post Harsha Period

e Buddhism/ Mahayana

e Desher Katha was written by Sakharam Ganesh Deuskar

e Vital-Vidhvansak

e Kulyavapa and Dronavapa

e Inscription signifies which personalities

e Gandhi Irwin Pact

e Common agreement between Gandhism and Marxism

e  Cultural History of India "Paramitas"

e Rakhmabai case of 1884

e Indigo Cultivation in India

e Fort William College of Calcutta

e "Ulgulan"

e Literature/ Scholars

3. Indian Polity & Constitution

e With reference to the funds under the Members of Parliament Local Area Development Scheme
(MPLADS)

e Which one of the following categories of Fundamental Rights incorporates protection against
untouchability as discrimination?

e Rajya Sabha has equal powers with Lok Sabha

e Separation of Judiciary

e A constitutional government by definition is a government

e Other than the Fundamental Rights, which of the following parts of the Constitution of the principles and
provision of the Universal Declaration of Human Rights.

e A Parliamentary System of Government

o  Welfare State Ideals

e Basic Structure in terms of federalism/ Judicial Review

e Characteristics appropriate for bureaucracy

e The preamble of the constitution of India

e DPSP

e RPA act, 1951

e President of India/ Parliament Session

4. Economy

¢ InIndia, which of the following can be public Investment in as considered agriculture?
e Which of the following factors/policies were affecting the price of rice in India in the recent past
e Interest Coverage Ratio
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e Consider the following statements: 1. The value of the Indo-Sri Lanka trade has consistently increased in
the last decade. 2. "Textile and textile articles" constitute an important item of trade between India and
Bangladesh. 3. In the last five years, Nepal has been the largest trading partner of India in

e CPI&WPI

e Commercial Paper, Certificate of Deposit, Call Money, Zero-Coupon Bonds

e Foreign Direct Investment major characteristics

e With reference to the international trade of India

¢ Non-financial debt includes

e With reference to the Indian economy after the 1991 economic liberalization, consider the following
statements

e RBI's expansionist monetary policy

e "The Macro-Economic Framework Statement"

e Global Financial Crisis

e Demand Deposit Account

5. Geography

e Consider the following pairs River and flows into

e Zero tillage in agriculture

e  Minimum Support Price

e The crop is subtropical in nature.

e With reference to pulse production in India

e With reference to the current trends in the cultivation of sugarcane in India
e Eco-friendly Agriculture

e Major Minerals

e Ocean Mean Temperatureure

e Chemical fertilizers in India

e Siachen Glacier

e Famous Places with their states

e Jet streams occur in the Northern Hemisphere only/ Cyclones

6. Environment

e with reference to the Indian Elephant, consider the following

e Which of the following Protected Areas are located in Cauvery basin

o With reference to India's Biodiversity, Ceylon frogmouth, Coppersmith Barbet, Gray-chinned minivet and
White-throated restart are

e Which one of the following protected areas is well-known for the conservation of a sub-species of the
Indian swamp deer (Barasingha) that thrives well on hard ground and exclusively graminivorous.

e  Which of the following are the most likely places to find the musk deer in its natural habitat?

e Inrural road construction the use of which of the following is preferred for ensuring environmental
sustainability or reducing carbon footprint.

e What is Biochar farming?

e Schedule VI of the Wildlife Protection Act, 1972.

e Social Cost of Carbon

e India's Desert National Park

e Among the following Tiger Reserves, which one has the largest area under "Critical Tiger Habitat".
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7. Current Affairs

e In which one of the following groups are all the four countries members of G20?

e Kisan Credit Card Scheme

e The term "West Texas Intermediate"

e |AEA safeguards

e With reference to Trade-Related Investment Measures (TRIMS, which of the following statements is/are
correct?

e Consider the following statements: In terms of short-term credit delivery to the agriculture sector,
District Central Cooperative Banks (DCCBs) deliver more credit in comparison to Scheduled Commercial
Banks and Regional Rural Banks. One of the most important functions of DCCBs is to provide funds to the
Primary Agricultural Credit Societies.

e Advantages of fertigation in agriculture

e Cyber insurance for Individual

e 36% of India's districts are classified as "overexploited" or "critical" by the Central Ground Water
Authority (CGWA).

e Aadhar Metadata

e Legal Services Authorities

e International Agreement with their Subjects

e Gold Tranche

e Space Mission

e Public Key Infrastructure

e Pronuclear Transfer

e Artificial Intelligence

e Visible Light Communication

e Block-Chain Technology
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Comprehensive Explanations
(Prelims 2020)

1. Consider the following statements:

1. Aadhaar metadata cannot be stored for more than three months.

2. State cannot enter into any contract with private corporations for sharing of Aadhaar data.
3. Aadhaar is mandatory for obtaining insurance products.

4. Andhaar is mandatory for getting benefits out of the Consolidated Fund of India.
Which of the statements given above is/are correct?

(a) 1and 4 only

(b) 2 and 4 only

(c) 3 only

(d) 1,2 and 3 only

Answer: b

Statement 1 is Incorrect: Supreme Court in 2018 upheld the Constitutional validity of Aadhaar. five-judge
Constitution bench headed by Chief Justice Dipak Misra, with a majority of 4:1, noted that collection of data, its
storage and use does not violate fundamental Right of Privacy and the Aadhaar Act and regulations provided for
protection and safety of data received from individuals. However the majority judgment on Aadhaar was
metadata cannot be stored for more than six months.

Statement 2 is correct: State giving any data to a private entity would be a breach in the privacy.

Statement 3 is Incorrect: Insurance Regulatory and Development Authority of India (IRDAI) has directed
insurance companies not to mandatorily ask for the Aadhaar details for know-you-customer (KYC) requirement or
carry out authentication using e-KYC from Unique Identification Authority of India (UIDAI).

Statement 4 is correct: Going by the elimination method we can come to conclusion that statement 4 is correct.
Thus, option b is correct.

2. Rajya Sabha has equal powers with Lok Sabha in
(a) The matter of creating new All India Services.
(b) Amending the Constitution

(c) The removal of government

(d) Making cut motions.

Answer: b

In all the matters of the legislature including the constitutional amendment, the extent of the Rajyasabha's power
is same as that of the Loksabha. However matters in relating to budget, removal of government it is the Lok
sabha which prevails. Only in the matters of All India services Rajyasabha has more powers.

Amendment of Constitution

e Part XX of the Constitution deals with its amendment.

e Under Article 368(2), Parliament can amend the Constitution by passing a Bill in each House by a majority of
the total membership of that House and by a majority of not less than two-thirds of the members of that
House present and voting.

e Thereafter, the Bill shall be presented to the President who shall give his assent and thereupon the
Constitution shall stand amended.

e FRs and DPSPs are the two most important provisions that can be amended by the special majority.

Thus, option b is correct.
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3. With reference to the funds under Members of Parliament Local Area Development Scheme (MPLADS), which
of the following statements are correct?

1. MPLADS funds must be used to create durable assets like physical infrastructure for health, education, etc.
2. A specified portion of each MP’s fund must benefit SC/ST populations.

3. MPLADS funds are sanctioned on yearly basis and the unused funds cannot be carried forward to the next
year.

4. The district authority must inspect at least 10% of all works under implementation every year.

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 3 and 4 only

(c)1,2and 3 only

(d) 1,2 and 4 only

Answer: d

MPLADS Scheme or Sansad Nidhi Yojana

e |tis a central sector scheme for MPs to recommend works of developmental nature in their constituencies

e |t was launched in December, 1993

e The emphasis is on creating durable community assets based on locally felt needs.

e Parent Body: Ministry of Statistics and Programme Implementation (MOSPI)

e The funds — Rs. 5 crore/annum/MP — under the scheme are non-lapsable.

e Funds are released in the form of grants in-aid directly to the district authorities.

e MPs have only recommendatory role and the district authority is empowered to examine the eligibility of
works, select the implementing agencies and monitor it.

e M.Ps are to recommend every year, works costing at least 15 per cent of the MPLADS entitlement for the
year for areas inhabited by Scheduled Caste population and 7.5 per cent for areas inhabited by S.T.
population.

e The District Authority would be responsible for overall coordination and supervision of the works under the
scheme at the district level and inspect at least 10% of the works under implementation every year. The
District Authority should involve the MPs in the inspections of projects to the extent feasible. Click on the
below link for further guidelines on the scheme.

Source
https://mplads.gov.in/MPLADS/UploadedFiles/MPLADSGuidelines2016English 638.pdf

Thus, option d is correct.

4. Which one of the following categories of Fundamental Rights incorporates protection against untouchability as

a form of discrimination?

(a) Right against Exploitation

(b) Right to Freedom

(c) Right to Constitutional Remedies

(d) Right to Equality

Answer: d

Right to Equality

e Article 14: The State shall not deny to any person equality before the law or the equal protection of the laws
within the territory of India, on grounds of religion, race, caste, sex or place of birth

e Article 15: The State shall not discriminate against any citizen on grounds only of religion, race, caste, sex,
place of birth or any of them.

e Article 16: There shall be equality of opportunity for all citizens in matters relating to employment or
appointment to any office under the State.
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e Article 17: Abolition of untouchability.
e Article 18: Abolition of all titles except military and academic.

Thus, option d is correct.

5. In India, separation of judiciary from the executive is enjoined by

(a) The Preamble of the Constitution

(b) A Directive Principle of State Policy

(c) The Seventh schedule
(d) The Conventional practice
Answer: b

Separation of powers is the division of the legislative, executive, and judicial functions of government. It
minimizes the possibility of arbitrary excesses by the government, since the sanction of all three branches is
required for the making, executing, and administering of laws. Article 50 of DPSP puts an obligation over the
state to separate the judiciary from the executive.

Thus, option b is correct.

6. Along with the Budget, the Finance Minister also places other documents before the Parliament which include
“The Macro Economic Framework Statement”. The aforesaid document is presented because this is mandated by

(a) Long standing parliamentary convention

(b) Article 112 and Article 110(1) of the Constitution of India

(c) Article 113 of the Constitution of India
(d) Provisions of the Fiscal Responsibility and Budget Management Act, 2003

Answer: d

The FRBM act mandates certain documents to be tabled in the Parliament of India, along with Budget, annually
with regards to the country’s fiscal policy. This included the Medium-term Fiscal Policy Statement, Fiscal Policy
Strategy Statement, Macro-economic Framework Statement and Medium-term Expenditure Framework
Statement. Click on the link for further information

Thus, option d is correct.

7. A Constitution government by
definition is a

(a) Government by legislature

(b) Popular government

(c) Multi-party government

(d) Limited government

Answer: d

A state is a Constitutional state, if it
limits its powers and recognizes the
rights of individuals as fundamental
for their development. A limited
government is one whose legalized
force and power is restricted through
delegated and enumerated
authorities. Countries with limited

governments have fewer laws

about what individuals and

But this is clearly not
enough. Suppose you
decided who had the
authority to make
decisions, But then this
authority passed laws that
you thought were patently
unfair. It prohibited you
from practising your
religion for Instance. Or it
enjolned that clothes of a
certain colour were
prohtbited, or that you
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always happen in any constitution making?

were not free to sing certain songs or that people who belonged to a
particular group (caste or religlon) would always have to serve others
and would not be allowed to retain any property. Or that government
could arbitrarily arrest someone, or that only people of a certain skin
colour would be allowed to draw water from wells, You would obviously

on certain procedures there would be something
obviously unjust about that government enacting these
laws.

So the third function of a constitution is to set
some limits on what a government can impose on
its citizens. These limits are fundamental in the
sense that government may never trespass them.

Constitutions limit the power of government in many
ways. The most common way of limiting the power of
government is to specify certain fundamental rights that
all of us possess as citizens and which no government
can ever be allowed to violate. The exact content and
interpretation of these rights varies from constitution to
constitution. But most constitutions will protect a basic
cluster of rights, Citizens will be protected from being
arrested arbitrarily and for no reason. This is one basic
limitation upon the power of government. Citizens will
normally have the right to some basic liberties: to freedom
of speech, freedom of conscience, freedom of association,
freedom to conduct a trade or business etc. In practice,
these rights can be limited during times of national
emergencv and the constitution snecifies the

NCERT OF CLASS 11th (Indian Constitution at work) :

businesses can and cannot do. In many cases, such as the United States, it is a constitutionally limited
government, bound to specific principles and actions by a state or federal constitution.
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Thus, option d is correct.

8. Other than the Fundamental Rights, which of the following parts of the Constitution of India reflect/reflects the
principles and provisions of the Universal Declaration of Human Right (1948).

1. Preamble

2. Directive Principle of State Policy

3. Fundamental Duties

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 only

(c) 1 and 3 only

(d) 1,2 and 3 only

Answer: d

On 10 December 1948, the United Nations adopted the Universal Declaration of Human Rights in Paris, France.
This day is celebrated throughout the world as Human Rights Day. The Universal Declaration of Human Rights is a

document which consists of 30 articles that affirm an individual’s rights. This was the first step in formulating an
International Bill of Human Rights that came into force in 1976.

Content of the Declaration
There are 30 articles and a Preamble.
» Articles 1 —2: concepts of dignity, liberty, equality, and brotherhood.

» Articles 3 — 11: individual rights like right to life and prohibition of slavery; fundamental legality of human
rights.

» Articles 12 — 17: individual rights towards the community including freedom of movement.

» Articles 18 — 21: constitutional liberties like political, public and spiritual freedoms; freedom of thought,
opinion, religion and conscience, word and peaceful association.

> Articles 22 — 27: economic, social and cultural rights; healthcare.

» Articles 28 — 30: ways of using these rights and areas where they cannot be applied.

Ideals of Preamble like liberty, equality found direct reference in UDHR. Social and economic rights like Right to

free legal aid, Right to equal wages etc which are part of DPSP are also directly influenced from UDHR.

Moreover Article 29 of UDHR (1) espouses that everyone has duties to the community in which alone the free

and full development of his personality is possible. This above article can be interpreted in tune with

Fundamental duty 51(j) which says that Strive towards excellence in all spheres of individual and collective

activity so that the nation constantly rises to higher levels of endeavor and achievement.

Thus, option d is correct.

9. In India, Legal Services Authorities provide free legal services to which of the following types of citizens?
1. Persons with an annual income of less than Rs. 1,00, 000

2. Transgender with an annual income of less than Rs. 2,00,000

3. Member of Other Backward Classes (OBC) with an annual income of less than Rs. 3,00,000

4. All Senior Citizens

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 3 and 4 only

(c) 2 and 3 only

(d) 1 and 4 only
Answer: a
Article 39A of the Constitution of India provides that State shall secure that the operation of the legal system

promotes justice on a basis of equal opportunity, and shall in particular, provide free legal aid, by suitable
legislation or schemes or in any other way, to ensure that opportunities for securing justice are not denied to any
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citizen by reason of economic or other disability. Articles 14 and 22(1) also make it obligatory for the State to
ensure equality before law and a legal system which promotes justice on a basis of equal opportunity to all. Legal
aid strives to ensure that constitutional pledge is fulfilled in its letter and spirit and equal justice is made available
to the poor, downtrodden and weaker sections of the society.

The National Legal Services Authority (NALSA) has been constituted under the Legal Services Authorities Act,
1987 to provide free Legal Services to the weaker sections of the society and to organize Lok Adalats for
amicable settlement of disputes.

NALSA lays down policies, principles, guidelines and frames effective and economical schemes for the State Legal
Services Authorities to implement the Legal Services Programmes throughout the country. Primarily, the State
Legal Services Authorities, District Legal Services Authorities, Taluk Legal Services Committees, etc. have been
asked to discharge the following main functions on regular basis:
e To Provide Free and Competent Legal Services to the eligible persons;
e To organize Lok Adalats for amicable settlement of disputes and
e To organize legal awareness camps in the rural areas.
The Free Legal Services include:-

a) Payment of court fee, process fees and all other charges payable or incurred in connection with any legal
proceedings;

b) Providing service of lawyers in legal proceedings;

c) Obtaining and supply of certified copies of orders and other documents in legal proceedings.

d) Preparation of appeal, paper book including printing and translation of documents in legal proceedings.
The limits are decided by each State Government and by Central Government (for cases before SC). State limits
vary, usually between Rs. 1 Lakh &Rs. 3 Lakh. There is no special provision for OBCs. Also, no blanket provision
in all states for ‘all ‘senior citizens — it varies. Provision for transgender are usually set at Rs. 2 Lakh (Delhi).
Thus, option a is correct.

10. Consider the following pairs:-
International agreement /Set-up Subject
1. Alma-Ata Declaration - Healthcare of the people
2. Hague Convention - Biological and Chemical
3. Talanoa Dialogue - Global climate change
4. Under 2 Coalition - Child rights
Which of the pairs given above is/are correctly matched?
(a) 1and 2 only
(b) 4 only
(c) 1and 3 only
(d) 2,3 and 4 only
Answer: ¢

e Alma-Ata Declaration: The Declaration of Alma-Ata was adopted at the International Conference on Primary
Health Care (PHC), Almaty (formerly Alma-Ata), Kazakhstan. It was the first international declaration
underlining the importance of primary health care.

e Hague Convention: The Hague Convention on the Civil Aspects of International Child Abduction is an
international treaty that establishes procedures that provide for the prompt return of children wrongfully
retained or removed from their habitual residence.

e Talanoa Dialogue :The Talanoa Dialogue aims is to find practical and local solutions for how countries can
increase their ambition in the next round of Nationally Determined Contributions (NDCs), which describe
their individual efforts to reduce national emissions.

e UNDER2 Coalition: A coalition of 200 subnational governments from more than 40 countries that aims to
achieve Green House Gases(GHG) emissions mitigation.

Thus, option c is correct.
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11. A Parliamentary System of Government one in which

(a) All political parties in the Parliament are represented in the Government

(a) The Government is responsible to the Parliament and can be removed by it

(c) The Government is elected by the people and can be removed by them

(d) The Government is chosen by the Parliament but cannot be removed by it before completion of a fixed term.
Answer: b

The parliamentary government is also called as the Cabinet government due to concentration of executive
powers in the cabinet. In this system council of ministers can be removed by the lower house. Articles 74 and

75 deals with the parliamentary system at the centre and Article 163 and article 164 deals with the
Parliamentary system at the states.

Thus, option b is correct.

12. Which part of the Constitution of India declares the ideal of Welfare State?

(a) Directive Principles of State Policy

(a) Fundamental Rights

(c) Preamble

(d) Seventh Schedule

Answer: a

PART IV of the Constitution (Arts. 36-51) contains the Directive Principles of State Policy. These Directive
Principles constitute a very comprehensive social, economic and political programme for a modern and welfare
state. They embody the object of the State under the republican Constitution, namely, that it is to be a 'Welfare

State' and not a mere 'Police State'. Most of these Directives, it will be seen, aim at the establishment of the
economic and social democracy which is pledged for in the Preamble.

Thus, option a is correct.

13. Consider the following statements:

1. The Constitution of India defines its ‘basic structure’ in terms of federalism, secularism, fundamental rights
and democracy.

2. ‘The Constitution of India provides for ‘Judicial review’ to safeguard the citizens’ liberties and to preserve the
ideals of which the Constitution is based

Which of the statements given above is/are correct?

(a) 1 only

(a) 2 only

(c) Bothe 1 and 2

(d) Neither 1 nor 2

Answer: b

Statement 1 is Incorrect: The concept of ‘basic structure’ came into existence in the landmark judgment in
Kesavananda Bharati vs State of Kerala case (1973) 47 years ago. As per this verdict Parliament could amend
any part of the Constitution so long as it did not alter or amend the basic structure or essential features of the
Constitution. However, the court did not define the term ‘basic structure’, and only listed a few principles such
as federalism, secularism, democracy — as being its part. A point to be noted is Basic Structure cannot be found
in the constitution it is only used to interpret the constitution by the judiciary.

Statement 2 is correct: Judicial Review in its most widely accepted meaning is the power of the courts to consider
the constitutionality of acts of organs of Government (the executive and legislature) and declare it
unconstitutional if it violates or is inconsistent with the basic principles of Grundnorm* i.e. Constitution. Article
13(2) of the Constitution of India prescribes that the Union or the States shall not make any law that takes away
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or abridges any of the fundamental rights, and any law made in contravention of the aforementioned mandate
shall, to the extent of the contravention, be void.

Thus, option b is correct.

14. One common agreement between Gandhism and
Marxism is

(a) The final goal of a stateless society
(b) Class struggle

(c) Abolition of private property

(d) Economic determinism

Answer: a

Philosophical differences between Gandhism and
Marxism:

(1) Conception of Ideal State: There is a great
similarity between Mahatma Gandhi and Karl Marx.
However, while the final aim of both them it the establishments of a stateless and classless society, their means
for achieving this aim are different. Mahatma Gandhi wanted to achieve this end through non-violent means but
Marx wanted to achieve it through violent means.

(2) Capitalism: Though both Mahatma Gandhi and Karl Marx were opposed to capitalism and exploitation, yet
they propagated different means to remove it. Gandhi advocated that capitalism can only be removed not by
violent means but through economic decentralization, by encouraging cottage industries, and by making the
capitalist trustees. Karl Marx was also dead against capitalism. He was not prepared to tolerate capitalism in any
form. But for achieving this aim he believed in employing violent means. During his time the condition in Europe
was such that it was not possible to abolish capitalism by parliamentary or non-violent means. He had no faith in
economic decentralization. He wanted to remove the government through revolution in order to destroy
capitalism root and branch.

(3) Spiritualism vs. Materialism: ‘Mahatma Gandhi was decisively a spiritualist. On every aspect of his life there
was a deep impact of religion. He was saint and a staunch believer in God. He did not attach any importance to
materialism and luxuries of life. He said that man should have minimum needs. He did not attach any importance
to politics devoid of religion. Karl Marx considered religion as opium for the workers, because in his view religion
made man a fatalist and it did not allow discontentment to arise in the workers against capitalism.

(4) Ends and Means: Mahatma Gandhi was not in favor of using violent means for achieving a good end.
Therefore, he adopted non-violent means for the achievement of India’s freedom and criticized revolutionaries
who wanted to adopt all types of means, including the violent ones, for the achievement of India’s freedom.
Marxists do not believe in non-violence. They believe that capitalism cannot be abolished trough parliamentary
means and socialist revolution is not possible without the use of violence.

(5) Class War: Marxists have a deep faith in class struggle. Marx said that there had been two classes in each
country since the very beginning. One class was of the exploiters and the other of the exploited. Though these
classes had different names in different countries, yet they were always at logger heads with each other. Today
the capitalists are the exploiters and the workers are the exploited. Mahatma Gandhi said that class- struggle
brought ruin to the country and it made the production of goods fall considerably. All propertied persons were
not bad. There was an urgent need to change their minds.

(6) Investment of Capital: With regard to the investment of capital the views of Marx and Gandhiji are different.
Marxists say that there should be socialization of the means of production. Mahatma Gandhi allows the
investment of private capital but not exploitation through it. He wants to make the capitalists trustees of the
national wealth. In case the capitalists do not agree to become the trustees, he is ready to give the power to the
state to control the industries of the capitalists by using minimum force. He is also not in favour of snatching land
from the landlords by force.

(7) Democracy vs. Dictatorship: Gandhiji had a firm faith in democracy, but he considered the Western
democracy as incomplete. He said that there should be decentralisation of power. The Panchayats in the village
should be given more powers and the villages should be given complete autonomy. The Marxists believe in the
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Dictatorship of the proletariat. They want to give maximum powers to the workers. In the transitory period the
Marxists want to give more powers to the state.

Economic determinism: It is a socioeconomic theory that economic relationships (such as being an owner or
capitalist, or being a worker or proletarian) are the foundation upon which all other social and political
arrangements in society are based. The theory stresses that societies are divided into competing economic
classes whose relative political power is determined by the nature of the economic system. Marx advocated his
philosophy on the lines of economic determinism; that is, he seemed to consider the economic system of
paramount importance and to argue that it determined all other sectors of society—politics, religion, idea
systems, and so forth. Gandhi though sided with the poor and advocated several welfare measures his idea of
varna-vyavastha it is the social stratification based on the Varna, caste. Four basic categories are defined under
this system - Brahmins (priests, teachers and intellectuals), Kshatriyas (warriors, kings, and administrators),
Vaishyas (agriculturalists, traders, farmers) and Shudras (workers, laborers, artisans).

Thus, Option a is correct.

15. In the context of India, which one of the following is the characteristic appropriate for bureaucracy?
(a) An agency for widening the scope of parliamentary democracy.

(b) An agency for strengthening the structure of federalism.

(c) An agency for facilitating political stability and economic growth

(d) An agency for the implementation of public policy

Answer: ¢

This question has options which are ambiguous in nature. As option D is narrow in scope since it only
encompasses policy implementation. However if we track the speech of Sardar Vallabhai Patel on the relevance
of bureaucracy in modern independent India IAS is an instrument of political and economic stability is
unambiguous.

Thus, Option c is correct.

16. The Preamble to the Constitution of India is

(a) A part of the Constitution but has no legal effect.

(b) Not a part of the constitution and has no legal effect either

(c) A part of the Constitution and has the same legal effect as any other part

(d) A part of the Constitution but has no legal effect independently of other parts
Answer: d

Kesavananda Bharati case for the first time, a bench of 13 judges assembled and sat in its original jurisdiction
hearing the writ petition. It can be safely concluded that the majority in Kesavanada Bharati case leans in favor of
holding,

I. That the Preamble to the Constitution of India is a apart of Constitution;

II. That the Preamble is neither a source of power nor a source of limitations or prohibitions;

[II.The Preamble has a significant role to play in the interpretation of statutes, also in the interpretation of
provisions of the Constitution.

Preamble provides significant help in the interpretation of the Constitution when words actually are ambiguous.
Under such circumstances it is the key to open the minds of the makers of the Act. But if the language of the
Article is sufficiently clear, it is not to be interpreted in the light of the Preamble in preference to the obvious
meaning thereof. The objectives in the Preamble are just a part of basic structure of the Constitution and nothing
more than that. So, Preamble cannot be amended so as to destroy the objectives, but also cannot be used as a
law to judge people. So we can safely conclude that preamble may not have powers when read individually,
however with other features it gains legitimacy.

Thus, Option d is correct.
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17.“Gold Tranche” (Reserve Tranche) refers to

(a) A loan system of the World Bank

(b) One of the operations of a Central Bank

(c) A credit system granted by WTO to its members
(d) A credit system granted by IMF to its members
Answer: d

A reserve tranche is a portion of the required quota of currency each member country must provide to the
International Monetary Fund (IMF) that can be utilized for its own purposes—without a service fee or economic
reform conditions. These positions are partly created by the reserve asset payments made in connection with
guota increases, as the reserve tranche position substitutes for or replace the other reserve assets used by the
member making the payment.

Thus, Option d is correct.

18. With reference to the provisions contained in Part IV of Constitution of India, which of the following
statements is/are correct?

1. They shall be enforceable by courts

2. They shall not be enforceable by any court.

3. The principles laid down in this part are to influence the making of laws by the States
Select the correct answer using the code given below:

(a) 1 only

(b) 2 only

(c) 1 and 3 only

(d) 2 and 3 only

Answer: d

Directive Principles of State Policy (DPSP) are in the form of instructions/guidelines to the governments at the
centre as well as states. Though these principles are non-justiciable, they are fundamental in the governance of
the country. They were incorporated in our Constitution in order to provide economic justice and to avoid
concentration of wealth in the hands of a few people. Therefore, no government can afford to ignore them.
They are in fact, the directives to the future governments to incorporate them in the decisions and policies to
be formulated by them. Article 37 which states that: The provisions contained in this Part shall not be
enforceable by any court, but the principles therein laid down are nevertheless fundamental in the governance
of the country and it shall be the duty of the State to apply these principles in making laws.

Thus, Option d is correct.

19. Consider the following statements:
1. According to the Constitution of India, a person who is eligible to vote can be made a minister in a State for six
months even if he/she is not a member of the Legislature of that State.

2. According to the Representation of People act, 1951, a person convicted of a criminal offence and sentenced
to imprisonment for five years is permanently disqualified form contesting an election even after his release from
prison.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Answer: d
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Statement 1 is incorrect: The voting age in India declares minimal age of voting is 18 years, however minimal

age for contesting and being part of legislature is 25. As per article 173 of the constitution —A person shall not
be qualified to be chosen to fill a seat in the Legislature of a State unless he—

(a) is a citizen of India, and makes and subscribes before some person authorised in that behalf by the Election
Commission an oath or affirmation according to the form set out for the purpose in the Third Schedule;]

(b) is, in the case of a seat in the Legislative Assembly, not less than twenty-five years of age and in the case of a
seat in the Legislative Council, not less than thirty years of age; and

(c) Possesses such other qualifications as may be prescribed in that behalf by or under any law made by
Parliament.

Statement 2 is incorrect: The Supreme Court judgement on the 10th July, 2013 on Writ Petitions filed by Ms Lily
Thomas and Mr Shukla of Lok Prahari has stated that if a sitting MP/MLA is convicted (not only charged) then he/
she would be disqualified immediately and the seat would be declared as vacant. Moreover Sub-sections (1) of
Section 8 of RPA states that a person will be disqualified for a period of 6 years from contesting or for being an
MP/ MLA if he/ she is convicted of an offence mentioned in the subsection which includes charges of rape. Sub-
section (2) of Section 8 of the RPA states the person will be disqualified for a period of 6 years since release for
charges with imprisonment upto 6 months. Sub-section (3) of Section 8 of the RPA states that if a person is
convicted and sentenced for more than 2 years then he/ she would be disqualified from the date of conviction for
six years from release.

Thus, Option d is correct.

20. Consider the following statements:

1. The President of India can summon a session of the Parliament at such place as he/she thinks fit.

2. The Constitution of India provides for three sessions of the Parliament in a year, but it is not mandatory to
conduct all three sessions.

3. There is a minimum number of days that the Parliament is required to meet in a year.

Which of the statement given above is/are correct?

(a) 1 only

(a) 2 only

(c) 1 and 3 only

(d) 2 and 3 only

Answer: a

Statement 1 is correct and 2 is incorrect: ARTICLE 85: SESSIONS OF PARLIAMENT, PROROGATION AND
DISSOLUTION

(1) The President shall from time to time summon each House of Parliament to meet at such time and place as
he thinks fit, but six months shall not intervene between its lasting sitting in one session and the date
appointed for its first sitting in the next session.

(2) The President may from time to time —

(a) Prorogue the Houses or either House;

(b) Dissolve the House of the People.

Statement 3 is incorrect: There are no such minimal criteria.
Thus, Option a is correct.

21. With reference to the history of India, consider the following pairs:

Corp Office-Nandanavanam Complex, 3rd Floor, S.R.Nagar, Hyderabad, Mob no- 7997992479
Main Campus- Padmashali Seva Samajam Boys Hostel Opp: St. Martins Eng. College,
Dulapally Road, Kompally, Hyderabad 500014, Mob No-7997992487/88



IGNITE GEN.STUDIES & CSAT

1. Aurang - In-charge of treasury of the State

2. Banian - Indian agent of the East India Company

3. Mirasidar - Designated revenue payer to the State

Which of the pairs given above is/are correctly matched?

(a) 1and 2 only

(b) 2 and 3only

(c) 3 only

(d)1,2and 3

Answer: b

e Aurang is a Persian term for a warehouse. It is a place where goods are collected before being sold.

e Banians acted as intermediaries for European merchants in Bengal. These intermediaries fulfilled various
internal and external roles for trading companies including, managing treasury functions, securing credit, and
acting as brokers in the local markets.

e Mirasidars were the sole proprietors of land, dismissing tenants’ rights completely. Only in villages where no

mirasidars system existed, were the villagers holding permanent occupancy rights recognized as landholders
responsible for the payment of land revenue.

SOURCE
https://www.philoid.com/epub/ncert/8/108/hess201

Thus, Option b is correct.

22. With reference to the religious history of India, consider the following statements:

1. Sthaviravadins belong to Mahayana Buddhism.

2. Lokottaravadin sect was an offshoot of Mahasanghika sect of Buddhism.

3. The deification of Buddha by Mahasanghikas fostered the Mahayana Buddhism.

Which of the statement given above is/are correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Answer: b

e Statement 1is incorrect: Sthaviravadins is associated with Theravada. It is an early school of Buddhism.

e Statement 2 is correct: The Lokottaravada was one of the early Buddhist schools according to Mahayana
doxological sources compiled by Bhaviveka, Vinitadeva and others, and was a subgroup which emerged from
the Mahasanghika.

e Statement 3 is correct: Mahasanghika, early Buddhist school in India that, in its views of the nature of the
Buddha, was a precursor of the Mahayana tradition.

Thus, Option b is correct.

23. Which of the following statements correctly explains the impact of Industrial Revolution on India during the
first half of the nineteenth century?

(a) Indian handicrafts were ruined

(b) Machines were introduced in the Indian

(c) Railway lines were laid in many parts of the country

(d) Heavy duties were imposed on the imports of British manufactures.
Answer: a

One of the most important consequences of British Rule was the decline and destruction of urban and rural
handicraft industries. British rule conditions for the rise of a modern capitalist industry. The Indian handicrafts
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that had made the country famous, collapsed under the colonial rule. This was mainly due to the competition
posed by the machine-made goods that were imported from Britain. The ability of mass production of goods
helped Britain to flood the Indian markets with cheap products especially cotton textiles.

Source
https://ncert.nic.in/textbook/pdf/hess206.pdf

Thus, Option a is correct.

24. Consider the following events in the history of India:

1. Rise of Pratiharas under King Bhoja

2. Establishment of Pallava power under Mahendravarman-|

3. Establishment of Chola power by Parantaka-I

4. Pala dynasty founded by Gopala

Which of the correct chronological order of the above events, starting from the earliest time?
(a) 2143

(b) 3142

(c) 2413

(d) 3412

Answer: c

e Mihirbhoja -l (836AD - 885AD) was the most important ruler of Pratihara dynasty.

e Mahendravarman - | (600AD - 630AD) was contemporary of Harsha of Thaneswar and an important ruler of
Pallava Dynasty.

e Parantaka | (907 - 955 AD) was the real founder of the Chola supremacy in southern India.
e Gopala (750-770 AD) was the founder of the Pala Dynasty of Bengal region of the Indian Subcontinent.

Source
NCERT class7th-OUR PASTS — II,NEW KINGS AND KINGDOMS. pg.16-21.

Thus, Option c is correct.

25. Which of the following phrases defines the nature of the ‘Hundi’ generally referred to in the sources of the
post-Harsha period?

(a) An advisory issued by the king of the subordinates
(b) A diary to be maintained for daily accounts

(c) A bill of exchange

(d) An order from the feudal lord to subordinates
Answer: c

Hundi/Hundee is a financial instrument that developed in Medieval India for use in trade and credit transactions.
Hundis are used as a form of remittance instrument to transfer money from place to place, as a form of credit
instrument or 10U to borrow money and as a bill of exchange in trade transactions. Hundis, being a part of the
informal system have no legal status and are not covered under the Negotiable Instruments Act, 1881.

Source
NCERT, Accountancy Chapter: bill of exchange, Page.no. 279- 280.

Thus, Option c is correct.

26. With reference to the book “Desher Katha” written by Sakharam Ganesh Deuskar during the freedom stuggle,
consider the following statements:

1. It against the colonial State’s hypnotic conquest of the mind.
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2. It inspired the performance of swadeshi street plays and folk songs.

3. The use of ‘desh’ by Deuskar was in the specific context of the region of Bengal.
Which of the statements given above are correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Answer: a

Statement 1 and 2 are correct: Sakharam Ganesh Deuskar published Desher Katha first in June 1904.. The book
gives an overwhelming detail about foreign exploration leading to India's economic servitude. And it explores
how British through various means such as education, religious and culture promotion are tuning the gullible
minds of Indians. The government of Bengal banned the book in 1910 and confiscated all the copies. Though
banned, the book inspired informed swadeshi street plays and folk songs, and had assumed the status of
mandatory reading for an entire generation of swadeshi activists.

Statement 3 is incorrect: Deuskar used desh to mean nation. The overlap of place of origin and nation, as well as
jati (literally birth, family or caste) and nationality influenced understandings of the nation/country in myriad
ways. Though the book was largely about Bengal region however a careful reading of the book vividly mentions
how Indian identity is conflated with Bengalee identity. He highlights bharathbarsha as the land of greatness yet
falling into the hypnotic servitude of the British.

Thus, Option a is correct.

27. The Gandhi-lrwin pact included which of the following?
1. Invitation of Congress to participate in the Round table conference.

2. Withdrawal of ordinances promulgated in connection with the civil Disobedience Movement.
3. Acceptance of Gandhiji’s suggestion for enquiry into police excesses

4. Release of only those prisoners who were not changed with violence

Select the correct answer using the code given below:

(a) 1 only

(b) 1, 2 and 4 only

(c) 3 only

(d) 2,3 and 4 only

Answer: b

Gandhi Irwin Pact

The Mahatma Gandhi Irwin pact sighed by Mahatma Gandhi and the British Indian Viceroy of India, Lord Irwin on
5 March 1931. The pact was signed before the start of second round table conference in London. Before
Mahatma Gandhi Irwin pact singed; the viceroy in 1929 had given a vague offer about the Dominion status.

The British officials and leaders were angry at the idea of a pact with Congress as the declared goal of INC was the
end of British Raj from India.

Viceroy Irwin accepted the following demands of Gandhi after the signing of Gandhi-Irwin Pact:

e Releasing of all the political Prisoners who were not involved in violence.(Statement 4 is correct)

e The remission of all the fines which were not yet collected.

e The return of all the lands which were not yet sold to the third parties.

e Right to make salt for personal use in the coastal areas.

e Lenient treatment to the government servants who had resigned on the call of Mahatma Gandhi.

e The right to peaceful, non-violent and non-aggressive picketing.

e The withdrawal of the emergency ordinances by the British Indian government.(Statement 2 is correct)
The Viceroy Lord Irwin did not accept the following demands of Mahatma Gandhi:

e The commutation of death sentence of Bhagat Singh, Rajguru and Sukhdev to life sentence.
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e The demand for a public enquiry of excesses committed by police during the civil disobedience movement.
(Statement 3 is incorrect)

On behalf of Indian National Congress, Mahatma Gandhi agreed to suspend the civil disobedience movement

after the signing of Gandhi-Irwin Pact( Statement 1 is correct). He also agreed to participate in the next round

table conference on the question of constitutional reforms based on the three pillars of Federation, Indian

responsibility and the safeguards which were necessary for India's interests covering the areas of Defence,

External Affairs, the position of minorities, financial credit of India etc.

Thus, Option b is correct.

28. The vital-Vidhvansak, the first monthly journal to have the untouchable people as its target audience was
published by

(a) Gopal Baba Walangkar

(b) Jyotiba Phule

(c) Mohandas Karamchand Gandhi

(d) Bhimrao Ramji Ambejkar

Answer: a

Gopal Baba Walangkar, also known as Gopal Krishna, is an early example of an activist working to release the
untouchable people of India from their historic socio-economic oppression, and is generally considered to be the
pioneer of that movement. He developed a racial theory to explain the oppression and also published the first
journal targeted at the untouchable people. Walangkar claimed that "high-caste people from the south were
'Australian—Semitic non-Aryans' and African negroes, that Chitpavan Brahmans were 'Barbary Jews', and that the
high-caste Marathas' forebears were 'Turks"'. In 1888, Walangkar began publishing the monthly journal titled
Vital-Vidhvansak (Destroyer of Brahmanical or Ceremonial Pollution), which was the first to have the
untouchable people as its target audience.

Thus, Option a is correct.

29. With reference to the history of India, the terms “kulyavapa” and “dronavapa” denote
(a) Measurement of land

(b) Coins of different monetary value

(c) Classification of urban land

(d) Religious rituals

Answer: a

An earlier use of system of land measurement as English transiation (Kalsi version)
revealed by Gupta records in which the expression
'kulavapa' is employed as a denomination of land
measure denoting the area of land, possessed of
the capacity of hearing one kulya of seed. The
element “vapa” in the compound "kulyavapa",
derived from the root "vap” to “sow". The words
kulyavapa, dronavapa and adhavapa indicate the
area of land that was required to sow seed grains of
the weight respectively of one kulya, drona and
adhaka. According to Sanskrit lexicons a dronavapa
was equivalent to one-eighth of a kulyavapa and :
this equation of 1:8 between a kulyavapa and dronavapa is also corroborated by epigraphic evidences. It is
further known from the Smriti texts that 4 adhakas were equivalent to a dronavapa.

Thus, Option a is correct.

30. Who among the following rulers advised his subject through this inscription?
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“Whosoever praises his religious sect on blames other sects out of excessive devotion to his own sect, with the
view of glorifying his own sect, he rather injures his own sect very severely.”

(a) Ashoka

(b) Samudragupta

(c) Harshavardhana

(d) Krishnadeva Raya

Answer: a

In the Major Rock Edict XIl of Ashoka Beloved-of-the-Gods, King Piyadasi, honors both ascetics and the
householders of all religions, and he honors them with gifts and honors of various kinds. But Beloved-of-the-
Gods, King Piyadasi, does not value gifts and honors as much as he values this that there should be growth in
the essentials of all religions. Growth in essentials can be done in different ways, but all of them have as their
root restraint in speech, that is, not praising one's own religion, or condemning the religion of others without
good cause. And if there is cause for criticism, it should be done in a mild way. But it is better to honor other
religions for this reason. By so doing, one's own religion benefits, and so do other religions, while doing
otherwise harms one's own religion and the religions of others. Whoever praises his own religion, due to
excessive devotion, and condemns others with the thought "Let me glorify my own religion," only harms his
own religion.

Source
NCERT class 6th, Our Pastl, Page.No.- 73, chapter

Thus, Option a is correct.

31. With reference to the cultural history of India, which one of the following is the correct description of the
term ‘paramitas’?

(a) The curliest Dharmashastra texts written in aphoristic (sutra) style

(b) Philosophical schools that did not accept the authority of Vedas

(c) Perfections whose attainment led to the Bodhisattva path

(d) Powerful merchand guilds of early medieval South India.

Answer: c

In order to achieve Enlightenment and realize Nibbana the Fourth Noble Truth, the Noble Eightfold Path
highlights what the Buddhist pilgrim (or practitioner) has to practice, and the path which he has to follow. The
qualities that are needed are called as paramita or parami (Pali) implying perfection. It is described in Buddhist
commentaries as noble character qualities generally associated with enlightened beings. These are Generosity
Morality Patience Energy Meditation Wisdom Skillful means Resolution Power Knowledge.

Thus, Option c is correct.

32. In the context to Indian history, the
Rakhmabai case of 1884 revolved around

1. Women'’s right to gain education
2. Age of consent
3. Restitution of conjugal rights

Select the correct answer using the code given
below :

(a) 1and 2 only
(b) 2 and 3 only
(c)1and 3 only
(d)1,2and 3
Answer: b
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Rakhmabai — A feminist icon

Dr. Rakhmabai Bhikaji was a pioneer in the field of medicine and women'’s rights in the 19th century. Her efforts
to be granted the right to choose was instrumental in raising the age of consent for women in 1891. She went on
to study in the London school of Medicine for Women in 1889 (Statements 2 and 3 are right) . When she came
back to India to work in a hospital in 1894, she became India’s first practicing lady doctor.

Victim of Child marriage

Rakhmabai Bhikaji was born to Jayantibai and Janardhan on November 22, 1864. When her father passed away,
her mother married Sakharam Arjun, a professor at the Grand Medical College in Bombay. Owing to social norms
that existed at that time, Rakhmabai got married at 11-years of age to the 19-year old Dadaji Bhikaji. As was
convention at the time, she stayed at her parents house, this was the time she spent in educating herself under
the guidance of her stepfather. When Rakhmabai was still in school, her husband, Dadaji, insisted that Rakhmabai
come and live with him in his house. Rakhmabai, not one to blindly follow convention, refused. Dadaji soon
filed a petition in the court of law. Early in 1884, one of India’s most influential and publicized trials began.
After Rakhmabai refused to stay with her husband, the court gave her two options — to either comply or face
imprisonment. Rakhmabai told the court that she would rather go to jail than live with Dadaji. The case
sparked debates on the age of consent for marriage when Rakhmbai refused to obey. Behramji Malabari and
Pandita Ramabai came to her defense and formed the Rakhmabai Defense Committee. The case spanned 4 years
until Dadaji was “compensated” in 1888, outside of court. The case was instrumental in the drafting of the Age
of Consent Act in 1891.

Rakhmabai was finally free to pursue her education after her court cases had concluded. Under the guidance and
support of Edith Pechey Phipson, the British director of the Cama Hospital in Bombay, Rakhmabai went to
England to study in the London School of Medicine for Women in 1889. During the course of her education, she
travelled to Glasgow, Brussels, and Edinburgh and obtained qualifications before graduating in 1894. When she
came back to India to work in a hospital in 1894, she became India’s first practicing lady doctor.(statement 1 is
incorrect since the question is only about the case details we can eliminate option 1).

Thus, Option b is correct.

33. Indigo cultivation in India declined by the beginning of the 20th century because of
(a) Peasant resistance to the oppressive conduct of planters

(b) Its unprofitability in the world market because of new inventions

(c) National leader’s opposition to the cultivation of indigo

(d) Government control over the planters

Answer: b

Synthetic indigo was the result of continuous research and development in the western indigo industry. The
industry got a place in the market in the mid of nineteenth century. The synthetic indigo was made from coal-tar
hydrocarbons. In the first decade of the 20th century, the natural indigo prices were all-time low because of the
competition by synthetic German indigo producers. But still many planters remained in the business and put
their efforts to reduce the prices of natural indigo. Later Bihar Indigo Planters’ Association found it’s very hard to
put natural indigo prices down.

Thus, Option b is correct.

34. Wellesley established the Fort William College at Calcutta because

(a) Be was asked by the Board of Directors at London to do so

(b) He wanted to revive interest in oriental leading in India

(c) He wanted to provided William Carey and his associates with employment
(d) He wanted to train British civilians for administrative purpose in India
Answer: d
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Fort William College was established on 18 August 1800 by Lord Richard Wellesley (d. 1837), Governor General of
Bengal. As Civil Service to the East India Company was the backbone of the East India Company. Initial steps were
taken by Clive to improve the terms and conditions but Clive as well as Warren Hastings was unable to put an end
in the corruption for; they themselves found hooked. The initial attempt to train the Civil Servants locally was
done by Lord Wellesley. Within the campus of the Fort William, he founded Fort Williams College on 10 July
1800. The idea was to teach the British rookies understand the Oriental culture, tradition, law and
administration to better coordinate in the “governance”. The result was the thousands of works in Indian
languages such as Sanskrit, Persian, Bengali, Hindi and Urdu were translated in English.

Thus, Option d is correct.

35. With reference to history of India, “Ulgulan” or the Great Tumult is the description of which of the following
events?

(a) The Revolt of 1854

(b) The Mappila Rebellion of 1921

(c) The Indigo Revolt of 1859-60

(d) Birsa Munda’s Revolt of 1899-1900
Answer: d

Birsa Munda and Munda ulgulan

Munda Rebellion is one of the prominent 19th century tribal rebellions in the subcontinent. Birsa Munda led

this movement in the region south of Ranchi in 1899-1900.The ulgulan, meaning 'Great Tumult', sought to

establish Munda Raj and independence.

Reasons for revolt

e Land rights: The Mundas traditionally enjoyed a preferential rent rate as the khuntkattidar or the original
clearer of the forest. But in course of the 19th century they had seen this khuntkatti land system being
eroded by the jagirdars and thikadars coming as merchants and moneylenders. This process of land alienation
had begun long before the advent of the British. But the establishment and consolidation of British rule
accelerated the mobility of the non-tribal people into the tribal regions. The incidence of forced labour or
beth begari also increased dramatically.

e Exploitation of labour: Unscrupulous contractors, moreover, had turned the region, into a recruiting ground
for indentured labour. Yet another change associated with British rule was the appearance of a number of
Lutheran, Anglican and Catholic missions.

e Religious issues: The spread of education through missionary activities made the tribals more organised and
conscious of their rights. Tribal solidarity was undermined as the social cleavage between the Christian and
non-Christian Mundas deepened.

Thus, Option d is correct.

36. With reference to the scholars/literatures of ancient India, consider the following statements:

1. Panini is associated with Pushyamitra Shunga.

2. Amarasimha is associated with Harshavardhana.

3. Kalidasa is associated with Chandra Gupta-II.

Which of the statements given above is/as correct?

(a) 1and 2 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and 3

Answer: c

Statement 1 is incorrect: Panini belongs to 4th century BCE or “6th to 5th century BCE” i.e. Mahajanapada era.
He was an ancient Sanskrit grammarian, expert in linguistics. However Pushyamitra Shunga ruled between c. 185
—c. 149 BCE.
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Statement 2 is incorrect: Amarasimha was one of the nine Gems in the court of Vikramaditya of Gupta era. He is
notably known for his famous Sanskrit thesaurus Amarakosha. It is also known as Namalinganushasana

Statement 3 is correct: Kalidasa was a famous Sanskrit writer and poet in the court of Chandragupta Il also know
as Vikramaditya. His literary works include Abhijnanasakuntalam, Malavikagnimitram and Kumarasambhava.

Thus, Option c is correct.

Method 1 Pronuclear transfe:
. Repair is done after fertilisation

37. In the context of recent advances in human ) .

Parents” fertilised egg
reproductive technology, “Pronuclear Transfer” is used ) ety
for 2o

———

(a) Fertilization of egg in vitro by the donor sperm @ =

(b) Genetic modification of sperm producing , ’
(c) Development of stem cell into functional embryos e
(d) Prevention of mitochondrial diseases in offspring

Donor’s fertilised egg
sed by same father as a

Answer: d ' aitivy
S
Pronuclear transfer is a Mitochondrial transfer e - —

techniques which involves the transfer of pronuclei —
from one zygote to another. This technique first | ‘ - @ -
requires fertilisation of healthy donated egg/s "

(provided by the mitochondrial donor) with the intending male parent sperm. Simultaneously, the intending
mother's affected oocytes are fertilised with the intending father's sperm.

Both sets of fertilised oocytes are allowed to develop to the early zygote stage where the pronuclei are visible.
Therapeutic pronuclear transfer involves the movement of two pronuclei from the affected zygotes (also in the
form of a karyoplast), into the enucleated healthy zygotes. The resulting zygotes contain nuclear DNA from each
of the intending parents and a donor's mtDNA.

Source

httos://www.britannica.com/science/three-parent-babv#ref1246269

Thus, Option d is correct.

38. With the present state of development, Artificial Intelligence can effectively do which of the following?
1. Bring down electricity consumption in industrial units
2. Create meaningful short stories and songs.

3. Disease diagnosis

4. Text-to-Speech Conversion

5. Wireless transmission of electrical energy

Select the correct answer using the code given below
(a) 1,2,3 and 5 only

(b) 1,3 and 4 only

(c) 2,4 and 5 only

(d)1,2,3,4and 5 only

Answer: d

e Al for Energy saving: A consistent challenge with renewable energy sources such as wind and solar power is
their unreliability. Weather-dependent power sources will often fluctuate in their strength. Through the
National Center for Atmospheric Research’s new Al-based data mining method, it could reportedly access
weather reports with a higher level of accuracy and detail.This meant that greater precautions could be taken
to harness and preserve the energy that was generated. Al offers a cloud-based software platform that claims
to leverage artificial intelligence to help clients optimize energy consumption. Designed for large commercial
buildings and managers of enterprise facilities, the process begins with installation of loT hardware.
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o Al for Energy short stories: There are many factors that have contributed to the success of Al in storytelling.
The first is the development of the many-layered neural network and secondly, the creation and availability
of huge databases that can power these networks. In 2016, the screenplay for the short film, Sunspring was
written by Benjamin, a self-named system-on-chip running a long short-term memory recurrent neural
network. By feeding a text recognition software multiple sci-fi movie scripts, the neural network could predict
the words and phrases that most often appeared together and write the screenplay and the theme song for
the film.

e Healthcare Sector: Machine learning is being used for faster, cheaper and more accurate diagnosis and thus
improving patient outcomes and reducing costs. For Example, IBM Watson and chatbots are some of such
tools.

o Text-to-Speech Conversion: Natural language processing (NLP) is the processing of human language and not
computer language by a computer program. For Example, spam detection, which looks at the subject line and
the text of an email and decides if it’s junk.

o Wireless transmission of electrical energy: Artificial Intelligence has also found use in power industry, e.g.
Machine -learning assisted power transfer (based on Al) using magnetic resonance and Al used for energy
efficiency.

Soucre
https://emerj.com/ai-sector-overviews/artificial-intelligence-for-energy-efficiency-and-renewable-energy/

Thus, Option d is correct.

39. With reference to Visible light Communication (VLC) = i

technology, which of ....f R e
1. VLC uses electromagnetic spectrum wavelengths 375 to 780 o : TR ;

nm. Aty s

2. VLCis known and long-range optical wireless communication.  ouw ! f oraperons ‘ . l‘.ﬂ

3. VLC can transmit large amounts of data faster than Bluetooth.
4. VLC has no electromagnetic interference.

Select the correct answer using the code given below.

(a) 1, 2 and 3 only

(b) 1, 2 and 4 only

(c)1,3 and 4 only

(d) 2,3 and 4 only

Answer: c

Statement 1 is correct: The signals in the 380 -780 nm wavelength interval of the electromagnetic spectrum are
the light signals that can be detected by the human eye. It is possible to achieve illumination and data transfer
simultaneously by means of LEDs that is the prominent lighting equipment lately. By this way, both interior
lighting of a room and data transfer will be achieved without the need of an additional communication system.
This technology is given the name of Visual Light Communication.

Statement 2 is incorrect: The light can transmit information either directly or reflected from a surface. It can do
so while dimmed. However, light cannot penetrate obstacles such as walls. Thus for wireless communication
purposes VLC cannot be used for long distances

Statement 3 is correct: While Bluetooth transmits data at the rate of 300kbps (kilobytes per second), VLC can
transmit data in the range between mbps -gbps (megabytes per second to gigabytes per second).

Statement 4 is correct: VLC doesn’t cause electromagnetic interference

Source
https://www.eurekalert.org/pub releases/2019-05/kift-aii050619.php
https://devmesh.intel.com/projects/smarter-wireless-power-transfer-technology

Thus, Option c is correct.
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40. With reference to “Blockchain Technology”, consider the following statements:

1. It is a public ledger the everyone can inspect, but which How Blockchain Works
no single user controls. & o £l
2. The structure and design of blockchain is such that all 1fual
e e T - BB L ----- oo 2R ~a
the data in it are about crypto currency only. > »
—i—
3. Applications that depend on basic features of blockchain A transaction s e m— Thi Black s sunt &
requested every node in

is created the network

can be developed without anybody’s permission.

Which of the statements given above is/are correct?

(a) 1 only (4] 7 : o 0
(b) 1and 2 only w0 Capeay (Q E]@ E

(C) 2 on |y Nodes receive a The Block is added The transcation
Nodes Validte the R 4
t ti reword for the to the existing is Complete
(d) 1 and 3 Only ool Proof of work Blockchain
Answer: d

Basics of blockchains

Blockchains create trust by acting as a shared database, distributed across vast peer-to-peer networks that have
no single point of failure and no single source of truth, implying that no individual entity can own a blockchain
network, and no single entity can modify the data stored on it unilaterally without the consensus of its peers.
New data can be added to a blockchain only through agreement between the various nodes of the network, a
mechanism known as distributed consensus. Each node of the network keeps its own copy of blockchain’s data
and keeps the other nodes honest — if one node changes its local copy, the other nodes can reject it. Interestingly,
blockchains leverage techniques from a field of mathematics and computer science, known as cryptography, to
sign every transaction (e.g. the transfer of assets from one person to another) with a unique digital signature
belonging to the user who initiated the transaction.

Statement 1 is correct: A blockchain is a distributed, decentralized network where information is stored across a
network of computers. Pieces, called blocks, are stored on individual machines. And a group of transactions is
stored in a block. Block data is incredibly secure, since altering any information stored in a block would
necessitate overpowering the entire network. Since blockchain networks are vast, distributed, and decentralized,
this is a difficult feat that, while theoretically possible, is highly improbable.

Statement 2 is incorrect: The words “block” stands for digital information and “chain” stands for public database.
Specifically, they have three parts: Blocks store information about transactions like the date, time, and dollar
amount of recent purchase from any online site that works on a blockchain principle. Blocks store information
about who is participating in transactions. Instead of using your actual name, your purchase is recorded without
any identifying information using a unique “digital signature,” sort of like a username

Statement 3 is correct: Block chain Dpps are dpps. As decentralized application that runs on a distributed
computing system creating of Dpps doesn’t mandate permissions.

The top blockchain platforms which are commonly used for the development of blockchain apps

e Ethereum: Flexible and adaptable in nature, Ethereum is the first choice among blockchain app development
companies for blockchain application development. It is an open-source and public platform which allows the
creation of ICOs with smart-contract functionality other than blockchain dApp development.

e  Multichain: With Multichain, it became easier for mobile app developers to develop private blockchain
solutions and its deployment within or between multiple organizations.

e Hyperledger:Like Ethereum, Hyperledger is also an open-source platform. However, it is used for the
development of advanced blockchain solutions. For example, one can develop loT based blockchain solutions,
blockchain apps for supply chain management and more.

e EOS:EOQS platform aims at providing a blockchain solution that can offer smart contract functionality,
decentralized application hosting, and decentralized storage for the enterprise solution which completely
eliminates scalability issues majorly seen with Blockchains like Bitcoin and Ethereum. Along with it, it ends up
the need of paying any fees from the users.

e Quorum:Quorum is an Ethereum based open-source DLT and smart contract platform.
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e |OTA:IOTA is an open-source DLT based solution that is used as an ideal platform for the development of
payment systems. And the reason behind it uses a directed acyclic graph (DAG) and offers facilities like free
transactions no matter what transaction size is, handling of unlimited transactions at a time, faster
confirmation times, etc. This ensures faster and secure payment services between connected loT devices.

Sources
https://www.hindawi.com/journals/jfq/2020/5385207/
http://blockchainhub.net/decentralized-applications-dapps/

Thus, Option d is correct.

41. With reference to carbon nanotubes, consider the following statements:
1. They can be used as carriers of drugs and antigens in the human body.

2. They can be made into artificial blood capillaries for an injured part of human body.
3. They can be used in biochemical sensors.

4. Carbon nanotubes are biodegradable.

Which of the statement given above are correct

(a) 1and 2 only

(b) 2,3 and 4 only

(c)1,3 and 4 only

(d)1,2,3and 4

Answer: d

What are carbon nanotubes?

Carbon nanotubes (CNTs) are cylindrical molecules that consist of rolled-up sheets of single-layer carbon atoms
(graphene). They can be single-walled (SWCNT) with a diameter of less than 1 nanometer (nm) or multi-walled
(MWCNT), consisting of several concentrically interlinked nanotubes, with diameters reaching more than 100 nm.
Their length can reach several micrometers or even millimeters.

Like their building block graphene, CNTs are chemically bonded
with sp2 bonds, an extremely strong form of molecular
interaction. This feature combined with carbon nanotubes’
natural inclination to rope together via van der Waals forces,
provide the opportunity to develop ultra-high strength, low-
weight materials that possess highly conductive electrical and
thermal properties. This makes them highly attractive for
numerous applications.

Statement 1 is correct: Carbon Nanotubes can be used as
carriers of drugs and antigens in the human body. The main
applications of CNTs in pharmacy and medicine include drug,
biomolecule, gene delivery to cells or organs, tissue
regeneration, and biosensor diagnostics and analysis. Because
carbon nanotubes have such a high surface area and they go into the cell by the millions, you can have a very
high efficiency of delivery to a specific cell

Statement 2 is correct: Carbon Nanotubes can be made into artificial blood capillaries for an injured part of
human body as they are promising drug delivery platforms that can be functionalized with a variety of
biomolecules, such as antibodies, proteins, or DNA. CNTs can be used as drug carriers to treat tumours.
Statement 3 is correct: Owing to its unique properties CNT can be used for Biosensors.

Statement 4 is correct: Carbon nanotubes are biodegradable. As per the article in Science Direct, Bacteria, fungi
and other multiple types of microbes have the ability to degrade carbon nanotubes (CNTs), graphene (GRA), and
their derivatives and in the future more species with this ability will be found.

Source
https://www.nanowerk.com/nanotechnology/introduction/introduction to nanotechnology 22.php
https://pubs.rsc.org/en/content/articlelanding/2011/cc/c1cc13011k/unauth#!divAbstract
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Thus, Option d is correct.

42, Consider the following activities:

1. Spraying pesticides on a crop field

2. Inspecting the craters of active volcanoes

3. Collecting breath samples from spouting whales for DNA analysis

At the present level of technology, which of the above activities can be successfully carried out by using drones?
(a) 1and 2 only

(b) 2 and 3 only

(c)1and 3 only

(d)1,2and 3

Answer: d

Statement 1 is correct: Extensive usage of drones to spray pesticide on agricultural fields is widely done through
out the world. However he Union Government has clarified that drone-spraying is illegal as per the Insecticides
Act, 1968.

Source
Statement 2 is correct: https://www.commercialuavnews.com/public-safety/using-drones-to-monitor-
volcano-activity-and-save-lives
Statement 3 is correct: https://www.technologyreview.com/2018/06/06/142452/drones-are-flying-over-
whales-and-collecting-their-snot/

Thus, Option d is correct.

5:;:;18 . spacecraft 2
43. “The experiment will employ a trio of spacecraft flying in formation in pmh -
the shape of an equilateral triangle that has sides one million kilometres . » e GE%:E'.E‘;
long, with lasers shining between the craft.” The experiment in question RS = . . B /
refers to : i '

(a) Vogager-2

(b) New Horizons : | ; Imerterom-eters:
(c) LISA Pathfinder . "\
(d) Evolve LISA P A §

Answer: d

The evolved Laser Interferometer Space Antenna (eLISA) project is a plan of
setting into space three spacecraft, a mother and two daughter spacecraft,
which will fly in a triangular formation, trailing the earth in its orbit around
the sun at a distance of over 50 million km. Each arm of the imaginary
triangle, from the mother to each daughter spacecraft, will measure about ] \
a million km. Inside these spacecraft will float “freely falling” test masses — [

cubes with sides measuring abut 46 mm. Laser interferometers will EEEEEREED

accurately measure changes in the distance between these cubes. If they should be affected by a gravitational
wave, the minute changes in this distance are measure by the interferometer.

gravity waves

Source
https://www.britannica.com/science/evolved-Laser-Interferometer-Space-Antenna

Thus, Option d is correct.

44, Consider the following statements:

1. Genetic changes can be introduced in the cells that produce eggs or sperms of a prospective parent.
2. A person’s genome can be edited before birth at the early embryonic state.

3. Human induced pluripotent stem cells can be injected into the embryo of a pig.

Which of the statements given above is/are correct?
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(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d)1,2and 3

Answer: d

Statement 1 is correct: The statement is about Germline gene therapy. In this therapy the target is the
reproductive cells it ensures that any changes made to the DNA will be passed on to the next generation.
Germline gene therapy is when DNA is transferred into the cells that produce reproductive cells, eggs or sperm, in
the body. This type of therapy allows for the correction of disease-causing gene variants that are certain to be
passed down from generation to generation.

Statement 2 is correct: The statement is about Embryo genome editing. In this a suite of experiments that use
the gene-editing tool CRISPR—Cas9 to modify human embryos have revealed how the process can make large,
unwanted changes to the genome at or near the target site.

Statement 3 is correct: This statement is about Human IPSC interspecific embryo transfer for human organ
generation.

Thus, Option d is correct.

45. What is the importance of using Pneumococcal Conjugate Vaccines in India?

1. These vaccines are effective against pneumonia as well as meningitis and sepsis.
2. Dependence on antibiotics that are not effective against drug-resistant bacteria can be reduced.
3. These vaccines have no side effects and cause no allergic reactions.

Select the correct answer using the code given below.

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d)1,2and 3

Answer: b

Pneumococcal Disease

e Pneumococcal disease refers to any illness caused by pneumococcal bacteria.

e Symptoms: These bacteria can cause many types of illnesses, including pneumonia, which is an infection of
the lungs. Pneumococcal bacteria are one of the most common causes of pneumonia.

e Vulnerable Population: Anyone can get pneumococcal disease, but children under 2 years of age, people
with certain medical conditions, adults 65 years or older, and cigarette smokers are at the highest risk.

e In 2010, the annual incidence of severe pneumococcal pneumonia in India was estimated to be 4.8 episodes
per 1,000 children younger than 5 years. The top five contributors to India’s pneumococcal pneumonia
burden in terms of the number of cases and deaths were Uttar Pradesh, Bihar, Madhya Pradesh, Rajasthan
and Jharkhand.

Pneumococcal Conjugate Vaccine

e The vaccine is a mix of several bacteria of the pneumococci family, which are known to cause pneumonia —
hence ‘conjugate’, is included in the name of the vaccine.
e Conjugate vaccines are made using a combination of two different components.

Statement 1 is correct: A pneumococcal vaccine can prevent septicemia (a kind of blood poisoning, also called
sepsis) and meningitis.

Statement 2 is correct: vaccines reduces antibiotics usage because they can prevent infections thus they can
contribute reduction of AMR (Antimicrobial Resistance or drug resistance) .PCVs for pneumococcus can
potentially reduce the dependence on antibiotics by nearly 50 fifty percent per year.

Statement 3 is incorrect: Pneumococcal Conjugate Vaccines has side effects such as nausea, fever, vomiting and
diarrhea.

Sources
https://www.cdc.gov/vaccines/vpd/pneumo/public/index.html
https://pubmed.ncbi.nlm.nih.gov/29415741/
https://nhm.gov.in/New Updates 2018/NHM _Components/Immunization/Guildelines for immunization/Op
erational Guidelines for PCV introduction.pdf
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Thus, Option b is correct

46. In India, the term “Public Key Infrastructure” is used in the context of

(a) Digital security infrastructure

(b) Food security infrastructure

(c) Health care and education infrastructure

(d) Telecommunication and transportation infrastructure

Answer: a

Public Key Infrastructure (PKI) is a technology for authenticating users and devices in the digital world. The basic

idea is to have one or more trusted parties digitally sign documents certifying that a particular cryptographic key
belongs to a particular user or device.

PKI working

e When individual uses her private key to digitally sign her instruction, it gets encrypted, and using a
mathematical algorithm (popularly known as the hashing function), a number is generated.

e Upon receiving the instruction, the recipient can use the public key available with the certifying authority and
decrypt the instruction.

e Again using the same mathematical algorithm, a number of hashes will be generated. If both these numbers
match, the instruction is authentic and un-tampered. If they don’t, then the instruction is not authenticated
and the recipient will refuse to honour the instruction.

Thus, Option a is correct.

e Plant Cell

- 10-100 micrometers in length

47. Which of the following statement is/are
correct regarding the general difference Macto s
between plant and animals cells?

1. Plant cells have cellulose cell walls whilst
animal cells do not.

- Typically rectangular or
cubic in shape

=)

Cell membrane

Centrioles

2. Plant cells do not have plasma membrane (D)

unlike animal cell which do. Animal Cell

3. Mature plant cell has one large vacuole whilst * 10-D0 micsorastars I magth T

animal cell have many small vacuoles. = Wpichllyiroundiorirragaiar el wall
in shape

Plasmodesmata Calbhembrans

Select the correct answer using the code given
below ThoughtCo. Chloroplasts

(a) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Answer: c

Statement 1 is correct: Animal cells do not have a cell wall but have a cell membrane. Plant cells have a cell wall
composed of cellulose as well as a cell membrane.

Statement 2 is incorrect: Plants have both a cell wall that is made up of cell membrane (plasma membrane) and
cellulose.

Statement 3 is correct: Animal cells may have many small vacuoles. Plant cells have a large central vacuole that
can occupy up to 90% of the cell's volume.

Thus, Option c is correct.

48. Which of the following are the reasons/factors for exposure to benzene pollution?
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1. Automobile exhaust

2. Tobacco smoker

3. Wood burning

4. Using varnished wooden furniture

5. Using products made of polyurethane

Select the correct answer using the code given below.

(a) 1, 2 and 3 only

(b) 2 and 4 only

(c)1,3 and 4 only

(d)1,2,3,4and 5

Answer: d

How you could be exposed to benzene?

e QOutdoor air contains low levels of benzene from tobacco smoke, gas stations, motor vehicle exhaust, and
industrial emissions.

e Indoor air generally contains levels of benzene higher than those in outdoor air. The benzene in indoor air
comes from products that contain benzene such as glues, paints, furniture wax, and detergents.

e In addition to particle pollution, wood smoke contains several toxic harmful air pollutants including:
benzene, formaldehyde, acrolein, and polycyclic aromatic hydrocarbon.

e The air around hazardous waste sites or gas stations can contain higher levels of benzene than in other areas.

e Benzene leaks from underground storage tanks or from hazardous waste sites containing benzene can
contaminate well water.

e People working in industries that make or use benzene may be exposed to the highest levels of it.

e A major source of benzene exposure is tobacco smoke.

o Polyurethanes from Benzene Polyols synthesized from Vegetable Oils.

e Varnish, also called lacquer, is applied to the surface of wood. Varnishes often contain benzene. Exposure to
benzene can result in a buildup of the chemical in the bone marrow, fat and liver, according to the North
Carolina State Cooperative Extension Service's website. The Centers for Disease Control and Prevention states
that exposure to solutions that contain benzene can cause cancers such as leukemia to occur. Benzene in
varnish also helps make the solution highly combustible. Always wear protective clothing and gloves when
applying varnish to a cabinet because it can cause skin irritation or burning.

Sources
https://www.epa.gov/burnwise/wood-smoke-and-your-health
https://emergency.cdc.gov/agent/benzene/basics/facts.asp

Thus, Option d is correct.

49. If another global financial crisis happens in the near future, which of the following actions/policies are most
likely to give some immunity to India?

1. Not depending on short-term foreign borrowings
2. Opening up to more foreign banks

3. Maintaining full capital account convertibility
Select the correct answer using the code given below.
(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d)1,2and 3

Answer: a

Statement 1 is correct: Short -term borrowings would lead to the burden of paying back the debt, and could
result in stressful conditions for the borrowing economy/ India.

Statement 2 is incorrect: Opening up to more foreign banks would lead to an enhanced exposure to the global
economy and hence an increased risk.

Corp Office-Nandanavanam Complex, 3rd Floor, S.R.Nagar, Hyderabad, Mob no- 7997992479
Main Campus- Padmashali Seva Samajam Boys Hostel Opp: St. Martins Eng. College,
Dulapally Road, Kompally, Hyderabad 500014, Mob No-7997992487/88



IGNITE GEN.STUDIES & CSAT

Statement 3 is incorrect: Currency convertibility is the ease with which the currency of a country can be freely
converted into any other foreign currency or gold at market determined exchange rate based on demand and
supply for that currency. For example, convertibility of Indian rupee is the ease with which rupee be converted
into any foreign exchange like US dollars, Pound sterling, Euro etc and vice versa. The government can put
restrictions on foreign exchange convertibility which can lead to low currency convertibility. To ensure faster
growth of the world trade and the flow of capital between different economies, easy convertibility of currency is
necessary. The restrictions on the convertibility of different currencies create roadblocks in the flow of capital
between different countries which negatively impacts the economic growth and world trade.Easy convertibility of
currency is necessary for achieving rapid economic growth and ensuring improvement in the living standards of
the people.

e Current account convertibility
Current account convertibility refers to the freedom in payments and transfers in the current account
international transactions. Article VIII, section 2, section 3 and section 4 of the International Monetary Fund
(IMF) puts an obligation on the member countries for restoring the current account convertibility of their
currencies. It puts obligation for removing the restrictions on current payments, avoiding any kind of
discriminatory currency practices such as multiple exchange rates etc. However, capital account restrictions
are allowed.

e Capital account convertibility
Capital account convertibility refers to the ease and freedom in converting a country s currency into any
other foreign currency (such as US dollar, pound sterling, Euro etc) and vice versa for the capital account
transactions. It is the freedom to convert the local financial assets into foreign financial assets at the market
determined exchange rates. Full capital account convertibility would ultimately lead to unrestricted
movement of capital.

e Complete capital account convertibility can increase the inflow of capital in the country but if the
conditions become unfavourable there is a great risk of the outflow of capital from the home country. This
can lead to higher volatility in the exchange rates and can even create a crisis like situation as happened
during the East Asian crisis.

Thus, Option a is correct.

50. If you withdraw Rs. 1,00,000 in cash from your Demand Deposit Account at your bank, the immediate effect
on aggregate money supply in the economy will be

(a) To reduce it by Rs.-1,00,000

(b) To increase it by Rs. 1,00,000

(c) To increase to by more than Rs. 1,00,000

(d) To leave it unchanged

Answer: d

Since you are withdrawing money from the demand deposit account. There is no change in the money supply.
Thus, Option d is correct.

51. What reference to Foreign Direct Investment in India, which one of the following is considered its major
characteristic?

(a) It is the investment through capital instruments essentially in a listed company.

(b) It is a largely non-debt creating capital flow.

(c) Itis the investment which involves debt-servicing.

(d) It is the investment made by foreign institutional investors in the Government securities.
Answer: b

Foreign Investment means any investment made by a person resident outside India on a repatriable basis in
capital instruments of an Indian company or to the capital of an LLP. Foreign Direct Investment (FDI) is the
investment through capital instruments by a person resident outside India (a) in an unlisted Indian company; or
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(b) in 10 percent or more of the post issue paid-up equity capital on a fully diluted basis of a listed Indian
company.

Foreign Portfolio Investment is any investment made by a person resident outside India in capital instruments
where such investment is (a) less than 10 percent of the post issue paid-up equity capital on a fully diluted
basis of a listed Indian company or (b) less than 10 percent of the paid up value of each series of capital
instruments of a listed Indian company. A non-debt creating capital flow is the one where there is no direct
repayment obligation for the residents. FDI is largely a non-debt creating capital flow,

Source

https://www.rbi.org.in/scripts/FAQView.aspx?1d=26#Q1

Thus, Option b is correct.

52. With reference to the international trade of India at present, which of the following statements is/are
correct?

1. India’s merchandise exports are less than its merchandise imports.
2. India’s imports of iron and steel, chemicals, fertilizers and machinery have decreased in recent years.
3. India’s exports of services are more than its imports of services.

4. India suffers from an overall India’s Merchandise Trade
trade/current account deficit. (US $ Billion)

Select the correct answer using the

code given below: s Exports s Imports Trade Deficit

(a) 1 and 2 only 4893  490.7 4502 4480 507.4
(b) 2 and 4 only 314. 381.0 27:844

(c) 3 only

(d) 1,3 and 4 only I 83. i 90. !3; ’l@’; !'8-!l08 l62 =
Answer: d

Statement 1 is correct 201112 2012-13  2013-14 201415 201516 201617 2017-18  2018-19

Exports:India’s merchandise exports ~ Seurce: DGCI&S

recorded a Compound Annual Growth Rate (CAGR) of 7.09 percent from AprilMarch 2009-10 to April-March
2018-19 (QE). Merchandise exports reached a new peak of USS$ 331.02 billion during April-March 2018-19 (QE)
surpassing the earlier high of USS 314 achieved in 2013- 14 registering a positive growth of 9.06 percent over
previous year.

Imports: Import Cumulative value of import during Apr-Mar 2018-19 (QE) was USS$ 507.44 billion as against USS
465.58 billion during the corresponding period of the previous year registering a positive growth of 8.99 per cent
in USS terms. Oil imports were valued at USS 140.47 billion during Apr-Mar 2018-19 (QE) which was 29.27 per
cent higher than oil import valued at USS 108.66 billion in the corresponding period of previous year. Non-oil
imports were valued at USS 366.97 billion during Apr-Mar 2018- 19 (QE) which was 2.82 per cent higher than
non-oil import of USS 356.92 billion in previous year.

Statement 2 is incorrect: During 2018-19 (Apr-Mar), export of Ores and Minerals increased to USS$ 3,582.37
million from USS 3,305.28 million in
the corresponding period of the
previous year registering a positive
growth of 8.38 per cent.

India's Services Trade
(US $ Billion)

During the period 2018-19 (Apr- 195.1 205.8
Mar), the export of Chemicals and 1423 145. 7 151.8 158.1 1543 1642 17 & 25.5
Related Products increased to US$ 8.2 8.7 '46 5.9

43,757.58 million from  US$ ' 4-1 i4 9 i% 8| iﬁ 5 i‘) .7 is.t i7 6 l

Corp Office-Nandanavanam Com| 34152012 2012-2013 2013-2014 2014-2015 2015-2016 2016-2017 2017-2018 2018-2019
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Source: RBI
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37,559.55 million in the corresponding period of the previous year registering a positive growth of 16.50 per
cent. . Under this commodity group, except for fertilizers crude; all commodities in this group have shown a
positive growth

Machinery export during the period 2018-19 (Apr-Mar) increased to USS 29,087.93 million compared to USS
24,632.72 million in the corresponding period of the previous year registering a positive growth of 18.09 per cent.

Statement 3 is correct: India’s net services (service exports - service imports) has been in surplus. India’s Service
exports during April-August 2019- 2020 was USD 67.24 billion, as compared to USD 39.25 billion of imports during
the same period.

Statement 4 is correct: Current Account Deficit (CAD) or trade deficit is the shortfall between exports and
imports. As per Economic Survey 2019-20, India’s CAD was 2.1% in 2018-19, and 1.5% of GDP in H1 of 2019-20.

Thus, Option d is correct.

53. The term ‘West Taxes Intermediate’ sometimes found in news, refers to a grade of
(a) Crude oil

(b) Bullion

(c) Rare earth elements

(d) Uranium

Answer: a

West Texas intermediate (WTI), also known as Texas light sweet, is a grade of crude oil used as a benchmark in oil
pricing. This grade is described as light crude oil because of its relatively low density, and sweet because of its low
sulfur content. It is the underlying commodity of New York Mercantile Exchange's oil futures contracts. The price
of WTI is often included in news reports on oil prices, alongside the price of Brent crude from the North Sea.
Thus, Option a is correct.

54. In the context of the Indian Economy, non-financial debt includes which of the following?
1. Housing loans owed by households

2. Amounts outstanding on credit cards

3. Treasury Bills

Select the correct answer using the code given below:

(a) 1 only

(b) 1 and 2 only

(c) 3 only

(d)1,2and 3

Answer: d

Non-financial debt consists of credit instruments issued by governmental entities, households and businesses
that are not included in the financial sector. Debts are contractual obligations to repay monetary loans, often
with related interest expense. Non-financial debt includes industrial or commercial loans, Treasury bills and credit
card balances. They share most of the same characteristics with financial debt, except the issuers are non-
financial. They have maturities ranging from one day to perpetuity, and can be used as loans to finance a
company's growth. Companies can also use more sophisticated debt instruments for hedging purposes.

Thus, Option d is correct.

55. In India, why are some nuclear reactors kept under “IAEA Safeguards” while others or not?
(a) Some use uranium and others use thorium

(b) Some use imported uranium and others use domestic supplies

(c) Some are operated by foreign enterprises and others are operated by domestic enterprises
(d) Some are State-owned and others are privately-owned

Answer: b
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The nuclear reactors in India are placed under IAEA safeguards only if they are fuelled by uranium procured from
abroad. There are at present 22 operational reactors, of which 14 are under the International Atomic Energy
Agency.

Thus, Option b is correct.

56. With reference to Trade-Related Investment Measures (TRIMS); which of the following statement is/are
correct?

1. Quantitative restrictions on imports by foreign investors are prohibited.

2. They apply to investment measures related to trade in both goods and services.
3. They are not concerned with the regulation of foreign investment.

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 only

(c) 1 and 3 only

(d)1,2and 3

Answer: ¢

Statement 1 is correct: The TRIMs Agreement prohibits certain measures that violate the national treatment
(Article 1ll) and quantitative restrictions requirement s (Article XlI) of the General Agreement on Tariffs and Trade
(GATT) 1994.

Statement 2 is incorrect Under the Agreement on Trade - Related Investment Measures of the World Trade
Organization (WTO), (TRIMs Agreement), WTO members have agreed not to apply certain investment measures
related to trade in goods that restrict or distort trade TRIMs Agreement is a multilateral agreement on trade in
goods, and not services

Statement 3 is correct: TRIMs Agreement stipulates that certain measures adopted by Governments to regulate
FDI can cause trade-restrictive and distorting effects. However, the agreement is only concerned with the trade
effects of investment measures. It is not intended to deal with the regulation of investment as such and does not
impact directly on WTO members’ ability to regulate and place conditions upon the entry and establishment of
foreign investment.

Thus, Option c is correct.

57. If the RBI to adopt an expansionist monetary policy, which of the following would it not do?
1. Cut and optimize the Statutory Liquidity Ratio.

2. Increase the Marginal Standing Facility Rate.

3. Cut the Bank Rate and Repo Rate.

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 only

(c)1and 3 only

(d)1,2and 3

Answer: b

Expansionist/expansionary monetary policy is when the central bank of a country increases money supply to
stimulate the economy.

Statement 1 is incorrect: SLR is the ratio of liquid assets to the demand and time liabilities (NDTL). RBI increases
SLR to reduce bank credit during the time of inflation. Similarly, it reduces SLR during the time of recession to
increase bank credit. Therefore, cutting and optimizing SLR is something the RBI would do under its expansionist
monetary policy.
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Statement 2 is correct: MSF is an emergency window available to scheduled banks to borrow from RBI on an
overnight basis by pledging government securities. Increase the MSF rate of interest will make borrowing costly,
and thus is something that the RBI would not do as part of its expansionist monetary policy.

Statement 3 is incorrect: The rate of interest charged by RBI on loans extended to commercial banks is called
Bank Rate. Repo rate is the rate at which the RBI lends to commercial banks by purchasing securities. Bank Rate
and REPO rates are almost similar. The central bank (RBI for India) lends money to a private bank for which the
private bank needs to pay the interest rate. The only difference is that the REPO rate is used to lend money for
the short term while the bank rate for the long term. Lower bank rates and repo rates would reduce the cost of
borrowing, and thus will increase liquidity in the economy. Cutting bank rate and repo rate is something the RBI
would do under its expansionist monetary policy.

Thus, Option b is correct.

58. With reference to the Indian economy after the 1991 economic liberalization consider the following

statements:

. (Ks/worker)
1. Worker productivity

(Rs per worker at 2004-05 Year Agricultural  Cultivator ~ Farm Non-farm  All rural Urban
. . . labour workers rural workers
prices) increased in urban workers
o I‘Nh"e it decreased o] 821 4 1018 2294 1203 3829
ral areas. 1980-81 1788 225 216 6248 2878 8456
2. The percentage share 993 g4 5040 12271 9410 25822 12947 38934
of rural areas in the 499 9246 22807 17059 51789 25380 89180
workforce steadily  5(04.05 10480 25183 19933 82990 37273 120419
increased. 2011-12 33937 77144 62208 171836 101755 282515

3. In rural areas, the
growth in  non-farm
economy increased.

4. The growth rate in rural employment decreased.
Which of the statements given above is/are correct?
(a) 1and 2 only

(b) 3 and 4 only

(c) 3 only

(d) 1,2 and 4 only

Answer: b

Statement 1 is incorrect: The absolute level of income per worker i.e. worker productivity has increased for both
rural and urban areas. For rural areas it was Rs. 37273 in 2004 -05 and Rs. 101755 in 2011 -12, while for urban

0 T T
areas it was Rs.

Year Economy Workforce
120419 in 2004 -05
and Rs. 282515 in ig;g';i o ol
2011 -1% 1993-94 54.3 77.8
Statement 2 is 199900 48.1 76.1
incorrect: As per  2004-05 48.1 74.6
2011 Census, 68.8% 2011-12 46.9 70.9

of India’s population
and 72.4% of workforce resided in rural areas. However, steady transition to urbanization over the years has led
to a decline in the rural share in the workforce, from 77.8% in 1993 -94 to 70.9% in 2011 -12.

Statement 3 is correct: About two third of rural income is now generated in non -agricultural activities. Non -farm

economy has increased in rural areas. The share of agriculture in rural economy has decreased from 57% in 1993
-94 10 39% in 2011 -12
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Statement 4 is correct: After 2004 -05, the rural areas have witnessed negative growth in employment inspite of
high growth in output. The growth rate of rural employment was 1.45% during 1994 -2005, which fell to -0.28%
between 2005 -12.

Source
https://niti.gov.in/writereaddata/files/document publication/Rural Economy DP final.pdf

Thus, Option b is correct.

59. Consider the following statements:

1. In terms of short-term credit delivery to the agriculture sector, District Central Cooperative Banks (DCCBs)
deliver more credit in comparison to Scheduled Commercial Banks and Regional Rural Banks.

2. One of the most important functions of DCCBs is to provide funds to the Primary Agricultural Credit Societies.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Answer: b

Statement 1 is incorrect: The share in credit flow to agriculture of rural cooperatives is only 12.1%, as compared
to 76% of Scheduled Commercial Banks (SCBs), and 11.9% of Regional Rural Banks.

Statement 2 is correct: A Primary Agricultural Credit Society (PACS) is a basic unit and smallest co-operative
credit institutions in India. It works on the grassroots level (gram panchayat and village level). DCCBs mobilise
deposits from the public and provide credit to the public and PACS.

Source
https://www.rbi.org.in/Scripts/PublicationReportDetails.aspx?UrlPage=&1D=942#CP15
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60. In India, under cyber insurance for individuals, which of the following benefits are generally covered, in
addition to payment for the loss of funds and other benefits?

1. Cost of restoration of the computer system in case of malware disrupting access to one’s computer.
2. Cost of new computer if some miscreant willfully damages it, if proved so

3. Cost of hiring a specialized consultant to minimize the loss in case of cyber extortion

4. Cost of defence in the Court of Law if any third party files a suit

Select the correct answer using the code given below:

(a) 1,2 and 4 only

(b) 1,3 and 4 only

(c) 2 and 3 only

(d)1,2,3and4

Answer: b

Cyber Insurance is designed to guard businesses from the potential effects of cyber -attacks. It helps an
organisation mitigate risk exposure by offsetting costs, after a cyber -attack/breach has happened. This Policy
applies only to:

(i) Claim first made during the Period of Insurance or the Discovery Period, if applicable; and

(ii) Insuring Clauses viz. Identity Theft Cover , Social Media Cover , Cyber Stalking IT Theft Loss Cover , Malware

Cover , Phishing Cover , E-mail Spoofing , Media Liability Claims Cover , Cyber Extortion Cover , Privacy Breach
and Data Breach by Third Party.
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Source

https://www.thehindubusinessline.com/portfolio/personal-finance/cyber-insurance-what-are-the-
options/article31386501.ece

https://www.irdai.gov.in/ADMINCMS/cms/Uploadedfiles/30 Cyber%20Security%20Insurance%20-

Thus, Option b is correct.

61. In India, which of the following can be considered as public investment in agriculture?
1. Fixing Minimum Support Price for agricultural produce of all crops.
2. Computerization of Primary Agricultural Credit Societies.

3. Social Capital Development.

4. Free electricity supply to farmers

5. Waiver of agricultural loans by the banking system

6. Setting up of cold storage facilities by the governments.

Select the correct answer using the code given below:

(a) 1, 2 and 5 only

(b) 1, 3,4 and 5 only

(c) 2,3 and 6 only

(d)1,2,3,4,5and 6

Answer: ¢

Public investment, investment by the state in particular assets, whether through central or local governments or
through publicly owned industries or corporations. Public investment tends to be divided between physical or
tangible investment in infrastructure (for example, transport, telecommunications, storage and buildings);
human or intangible investment in education, skills, and knowledge (investment in social capital); and current
investment in the consumption of goods and services (for example, welfare benefits and pensions). Public
investment generally constitutes a relatively small percentage of overall public spending but is frequently a major
component of total national capital investment. Tweaking MSP, Subsidies and loan waivers are not investments
as they donnot create any durable assets.

Thus, Option c is correct.

62. What is the importance of the term “Interest Coverage Ratio” of a firm in India?

1. It helps in understanding the present risk of a firm that a bank is going to give loan to

2. It helps in evaluating the emerging risk of a firm that a bank is going to give loan to

3. The higher a borrowing firm’s level of Interest Coverage Ratio, the worse is its ability to service its debt.
Select the correct answer using the code given:

(a) 1and 2 only

(b) 2 only

(c) 1 and 3 only

(d)1,2and 3

Answer: a

Statement 1 and 2 are correct: The interest coverage ratio may be calculated by dividing a company's earnings
before interest and taxes (EBIT) during a given period by the company's interest payments due within the same
period. The Interest coverage ratio is also called “times interest earned.” Also called the times-interest-earned
ratio, this ratio is used by creditors and prospective lenders to assess the risk of lending capital to a firm.

The Formula for the Interest Coverage Ratio

EBIT (Earnings Before Interest & Taxes) 992479

Interest Coverage Ratio =

Interest Expense
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As you can see, the equation uses EBIT instead of net income. Earnings before interest and taxes is essentially net
income with the interest and tax expenses added back in. The reason we use EBIT instead of net income in the
calculation is because we want a true representation of how much the company can afford to pay in interest. If
we used net income, the calculation would be screwed because interest expense would be counted twice and tax
expense would change based on the interest being deducted. To avoid this problem, we just use the earnings or
revenues before interest and taxes are paid.

Statement 3 is incorrect: The lower the interest coverage ratio, the higher the company's debt burden and the
greater the possibility of bankruptcy or default. A higher ratio indicates a better financial health as it means that
the company is more capable to meeting its interest obligations from operating earnings.

Thus, Option a is correct.

63. Which of the following factors/policies were affecting the price of rice in India in the recent past?
1. Minimum Support Price

2. Government’s trading

3. Government’s stockpiling

4. Consumer subsidies

Select the Correct answer using the code given below:
(a) 1, 2and 4 only

(b) 1,3 and 4 only

(c) 2and 3 only

(d)1,2,3,and 4

Answer: d

Statement 1 is correct: MSP results in a diversion of stocks from the open market, thus, driving up the price for
the ultimate consumers. Moreover MSP prevents the prices from going down as the price will not go below the
MSP.

Statement 2 and 3 are correct: As the government intervenes in the rice market by buying and stocking, any
substantial sale in the form of open market sales by the government translates into significant price sensitivity.
Further government keeps intervening in the market whenever there is an escalation in the price of rice. The
government has been carrying out procurement and storage of food grains in India since 1960’s through mainly
two institutions: Commission for Agriculture Cost and Prices (CACP) and Food Corporation of India (FCI)

Statement 4 is correct: Subsidies lower the prices for the ultimate consumer. For example PDS system which
involves distribution of grains at cheaper price ensures price of rice remains stable.

Thus, Option d is correct.

64. Consider the following statements: 30.0% - - 30.0%
1. The value of Indo-Sri Lanka trade has

. . . 25.0% A - 25.0%
consistently increased in the last
decade. 20.0% F 20.0%

2. “Textile and textile articles”
constitute an important item of trade  150% - - 15.0%
between India and Bangladesh.

3. In the last five years, Nepal has been e o
the largest trading partner of India in 5, | L 5.0%
South Asia.
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Which of the statement given above is/are correct?

(a) 1and 2 only

(b) 2 only BANGLADESH'S \

(c)3 only TRADEWITHINDIA g

(d)1,2,and 3 B A

Answer: b M Export I Import -

Statement 1 is incorrect: Bilateral trade between India and Sri =

Lanka is USS 6.2 billion in 2018-19, out of which India’s exports o ﬁ 3 E >~ E [ :':

to Sri Lanka were USS 4.7 billion and imports were USS$ 1.5 =05 .: - 'E

billion. Although the trade remains encourages yet there is FY | FY | FY | FY I FY
201415 | 201516 | 2016-17 | 2017-18 | 201819

frequent downward trend especially in the 2013 and 2019
period as we can see in the DGFT graph.

Statement 2 is correct: According to the World Bank, India exports $2.25 billion-worth textile and clothing
products to Bangladesh. In turn, it imports $336 million-worth textile and clothing products from Dhaka.

Statement 3 is incorrect: India’s largest export market in the region is Bangladesh, followed by Sri Lanka and
Nepal, whereas the largest imports by value come from Myanmar, Sri Lanka and Bangladesh. All countries in the
neighborhood have a trade deficit with India, the highest in 2018 being Bangladesh ($7.6 billion), followed by
Nepal ($6.8 billion). India's exports to Bangladesh in FY 2018-19 stood at $9.21 billion and imports during the
same period were at $1.04 billion.

Thus, Option b is correct.

65. In which one of the following groups are all the four countries member of G20?
(a) Argentina, Mexico, South Africa and Turkey

(b) Australia, Canada, Malaysia and New Zealand

(c) Brazil, Iran, Saudi Arabia and Vietnam

(d) Indonesia, Japan, Singapore and South Korea

Answer: a

The Group of Twenty (G20) is the premier international forum for global economic cooperation. G20 = 19
countries + European Union. The 19 countries are: Argentina, Australia, Brazil, Canada, China, Germany, France,
India, Indonesia, Italy, Japan, Mexico, Russia, Saudi Arabia, South Africa, South Korea, Turkey, the United Kingdom
and the United States.

Thus, Option a is correct.

66. Under the Kisan Credit Card scheme short-term credit support is given to farmers for which of the following
purposes?

1. Working capital for maintenance of farm assets

2. Purchase of combine harvesters, tractors and mini trucks

3. Consumption requirements of farm households

4. Post-harvest expenses

5. Construction of family house and setting up of village cold storage facility
Select the correct answer using the code given below:

(a) 1, 2 and 5 only

(b) 1,3 and 4 only

(c)2,3,4and5only

(d)1,2,3,4and5
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Answer: b

The scheme aims at providing adequate and timely cred it for the comprehensive credit requirements of farmers
under single window for their cultivation and other needs as indicated below:

To meet the short term credit requirements for cultivation of crops

e Post-harvest expenses

e Produce Marketing loan

e Consumption requirements of farmer household

e Working capital for maintenance of farm assets, activities allied to agriculture, like dairy animals, inland
fishery and also working capital required for floriculture, horticulture etc.

e |nvestment credit requirement for agriculture and allied activities like pump sets, sprayers, dairy animals,
floriculture, horticulture etc

e Short term credit requirements of rearing of animals, birds, fish, shrimp, other aquatic organisms, capture of
fish.

However loans for combine harvesters, construction of houses and storage facility fall under long term credit

category which do not qualify under KCC priorities.

Thus, Option a is correct.

67. Consider the following statements:

WPI Weightage:

1. The weightage of food in Consumer Price Major Group Weights No. of Items No. of Quotations
Index (CPI) is higher than that in Wholesale 200405 | 201112 200405 | 201112 | 200405 | 201112
Price |ndex (WP|) All Commodities 1000 100.0 676 697 5482 831
2. The WPI does not capture changes in the Py Autics e wan o ~ e -

) ) . Fuel & Power 1491 13.15 19 16 n 2
prices of services, which CPI does. Mkaactvotts | g an o o - io0e
3. Reserve Bank of India has now adopted [ weightage:

WPI at its key measure of inflation and to o CPI(Rural) | CPI(Urban) | Combined (Rural + Urban)
decide on changing the key policy rates. Food, Beverages and Tobacco 5931 37.15 4971
Which of the statements given above is/are Fuel and Light 10.42 8.40 949
co rrect? Clothing, Bedding and Footwear 5.36 391 473
(a) 1 and 2 onIy Housing 0 2253 9.77
Miscellaneous (education, medical care, 2491 p.] 2631
(b) 2 Only transport and communication etc.)
(c) 3 only
(d)1,2and 3
Answer: a

Statement 1 is correct.

Statement 2 is correct: The number of items in CPI basket include 448 in rural and 460 in urban. Both these
indices are the weighted averages of prices of a specified set of goods and services. WPI excludes prices of
services such as education, healthcare, and rents. However, services now account for nearly 60 per cent of GDP
and a vast majority of these services are not traded with other countries. Conversely, the new CPl measure
assigns nearly 36% weightage on services and includes price changes in housing, education, healthcare, transport
and communication, personal care and entertainment.

Statement 3 is incorrect: RBI used WPI for most of its policy decisions before 2014. But WPI based inflation
calculation was not false proof. WPI shows the combined price of a commodity basket comprising 676 items. But
WPI does not include services, and it neither reflects the bottlenecks between producer and wholesaler nor
between wholesaler and retailer (consumer). Further CPI has certain advantages over WPI such as It shows the
actual cash flow on the side of the final consumer. CPI takes into account all the economic realities, including the
taxes and profits of all the middlemen. This measure of inflation takes into account services as well. CPI takes into
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account the behavior of wholesalers when it comes to passing on the price changes to the consumer. This means
a more accurate and predictable action plan over time. Hence from 2014, as part of the reforms initiated by RBI
governor Raghu Ram Rajan, RBI shifted to CPI for policy decisions.

Thus, Option a is correct.

68. Consider the following pairs:
River- Flow into
1. Mekong — Andaman Sea
2. Themes —Irish Sea
3. Volga — Caspian Sea
4. Zambezi — Indian Ocean
Which of the pairs given above is/are correctly matched?
(a) 1and 2 only
(b) 3 only
(c) 3and 4 only
(d) 1,2 and 4 only
Answer: c
Pair 1 is incorrect: Mekong river: Originates in Tibetan highlands, the Mekong River flows through China,
Myanmar, Laos, Thailand, Cambodia, Vietnam and empties into the South China Sea.
Pair 2 is incorrect: The River Thames empties in the North Sea.
Pair 3 is correct: The Volga is the longest river in Europe, and its catchment area is almost entirely inside Russia. It
empties into the Caspian Sea.
Pair 4 is correct: The Zambezi is the fourth-longest river in Africa, the longest east-flowing river in Africa and the
largest flowing into the Indian Ocean from Africa.
Thus, Option cis correct.

69. Consider the following statements:

1. In the case of all cereals, pulses and oil-seeds, the procurement at Minimum Support Price (MSP) is unlimited
in any State/UT of India.

2. In the case of cereals and pulses, the MSP is fixed in any State/UT at a level to which the marketing price will
never rise.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Answer: d

Statement 1 is incorrect: Based on the recommendations of the Commission for Agricultural Costs and Prices
(CACP), the Department of Agriculture and Cooperation, Ministry Of Agriculture And Farmers' Welfare, declares
Minimum Support Prices (MSP) for 22 mandated crops, and Fair and Remunerative Price (FRP) for Sugarcane.
However Successive Economic surveys have highlighted that Government’s open ended procurement is limited
to wheat and rice. And even after PM-AASHA reforms, procurement is not done for all the cereals for which
MSP is announced (e.g. Jowar, Bajra, Ragi etc)

Statement 2 is incorrect: The idea behind MSP is to give guaranteed price and assured market to the farmers and
protect them from the price fluctuations and market imperfections. CACP considers various factors such as the
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cost of cultivation and production, productivity of crops, and market prices for the determination of MSPs. MSP
fixed for each crop is uniform for the entire country. However, there is no instance of MSP being fixed in any
State/UT at a level to which the market price will never rise. Further Market factors of Supply and demand may
create a scenario where market price of cereal/pulses may rise higher than MSP. Market players are not legally
bound to keep their prices lower or higher than MSP.

Thus, Option d is correct

70. With reference to the Indian economy, consider the following statements:

1. ‘Commercial Paper’ is a short-term unsecured promissory note.

2. ‘Certificate of Deposit’ is a long-term instruments issued by the Reserve Bank of India to a corporation.

3. ‘Call Money’ is a short-term finance used for interbank transactions.

4. ‘Zero-Coupon Bonds’ are the interest bearing short-term bonds issued by the Scheduled Commercial Banks to
corporations.

Which of the statements given above is/are correct?

(a) 1and 2 only

(b) 4 only

(c) 1 and 3 only

(d) 2,3 and 4 only

Answer: c

Statement 1 is correct: Commercial paper (CP) is a popular instrument for financing working capital
requirements of companies. The CP is an unsecured instrument issued in the form of promissory note. This
instrument was introduced in 1990 to enable the corporate borrowers to raise short-term funds. It can be issued
for period ranging from 15 days to one year. Commercial papers are transferable by endorsement and delivery.
The highly reputed companies (Blue Chip companies) are the major player of commercial paper market.
Statement 2 is incorrect: Certificate of Deposit (CDs) is short-term instruments issued by Commercial Banks and
Special Financial Institutions (SFls), which are freely transferable from one party to another. The maturity
period of CDs ranges from 91 days to one year. These can be issued to individuals, co-operatives and companies.
Certificate of Deposit can be issued to individuals, corporations, companies, trusts, funds, associations etc. The
No resident Indians are also eligible for CDs provided they don’t repatriate the funds.

Statement 3 is correct: Call money is mainly used by the banks to meet their temporary requirement of cash.
They borrow and lend money from each other normally on a daily basis. It is repayable on demand and its
maturity period varies in between one day to a fortnight. The rate of interest paid on call money loan is known as
call rate.

Statement 4 is incorrect: Zero Coupon Bonds are issued at a discount and redeemed at par. No interest
payment is made on such bonds at periodic intervals before maturity.
Thus, Option c is correct

71. With reference to the cultural history of India, consider the following pairs:
1. Parivrajaka — Renunciant and Wanderer

2. Shramana — Priest with a high status

3. Upasaka — Lay follower of Buddhism

Which of the pairs given above are correctly matched?

(a) 1and 2 only

(b) 1 and 3 only

(c) 2and 3 only

(d)1,2and 3

Answer: b
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Pair 1 is correct: Parivrajakas were seekers of truth who did not live permanently in any one place. They left their
homes and wandered from village to village and forest to forest.

Pair 2 is incorrect: Shramana means “one who labours, toils, or exerts themselves. Shrama associated with the
ritualistic exertion

Pair 3 is correct: Upasaka are lay male followers of Buddhism. Upasika are female lay followers.

Thus, Option b is correct.

72. With reference to Indian elephants, consider the following statements:
1. The leader of an elephant group is a female.

2. The maximum gestation period can be 22 months.

3. An elephant can normally go on calving till the age of 40 years only.

4. Among the States in India, the highest elephant population is in Kerala.
Which of the statements given above is/are correct?

(a) 1and 2 only

(b) 2 and 4 only

(c) 3 only

(d) 1,3 and 4 only

Answer: a

Statement 1 is correct: The oldest and largest female elephant is the leader of the herd. This herd includes the
daughters of the matriarch and their offspring.

Statement 2 is correct: .They have the longest-known gestational period of any animal, lasting up to 680 days
i.e. 22 months

Statement 3 is incorrect: Elephants can reproduce till the age of 45-60 years.

Statement 4 is incorrect: South India had the highest number of wild elephants - 14,612. Among the south Indian
states, Karnataka leads the table with 6,049 elephants followed by Kerala.

Thus, Option a is correct.

73. Which of the following Protected Areas are located in
Cauvery basin?

KARNATAKA Cauvery River ::g;“;H /_J
» : ,,\y_‘s(:, ) - ? /_/E_/\v Chen
1. Nagarhole National Park e /\_P\CC’
2. Papikonda National Park R Sl A
L = {
3. Sathyamangalam Tiger Reserve S

4. Wayanad Wildlife Sanctuary

Select the correct answer using the code given below:
(a) 1and 2 only

(b) 3 and 4 only
(c)1,3 and 4 only
(d)1,2,3and 4
Answer: c

Cauvery Basin states

Papikonda is located in Andhra Pradesh in Godavari basin. All other options are located near Cauvery basin.
Thus, Option c is correct.

74. With reference to India’s biodiversity Ceylon frogmouth, Coppersmith barbet, Gray-chinned minivet and
White-throated redstart are

(a) Birds

(b) Primates
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(c) Reptiles
(d) Amphibians
Answer: a

Ceylon frogmouth, Coppersmith barbet, Gray-chinned minivet and White- throated redstart are birds found in
India.

Thus, Option a is correct.

75. Which one of the following protected areas is well-known for the
conservation of a sub-species of the Indian swamp deer (Barahsingha) that
thrives well on hard ground and is exclusively graminiviorous?

(a) Kanha National Park

(b) Manas National Park

(c) Mudumalai Wildlife Sanctuary

(d) Tal Chhapar Wildlife Sanctuary

Answer: a

Barasingha, or swamp deer is a deer species distributed in the Indian
subcontinent. It is the state animal of Madhya Pradesh. The Kanha tiger
reserve, spread over Mandla and Balaghat districts (in Madhya Pradesh) is
the only place in the world where the Barasingha species exists. Barasingha differs from all the Indian deer
species such that its antlers carry more than three times. Because of this distinctive character it is designated

barasingha, meaning twelve-tined. It has been listed vulnerable in the IUCN (International Union for Conservation
of Nature) Red List of Threatened Species.

Thus, Option a is correct.

76. Steel slag can be the material for which of the following?

1. Construction of base road

2. Improvement of agricultural soil

3. Production of cement

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 and 3 only

(c) 1 and 3 only

(d)1,2and 3

Answer: d

Steel slag can normally be obtained from slag processors who collect the slag from steel-making facilities. Slag
processors may handle a variety of materials such as steel slag, ladle slag, pit slag, and used refractory material to
recover steel metallic’s. These materials must be source separated, and well-defined handling practices must be
in place to avoid contamination of the steel slag aggregate. The slag processor must also be aware of the general
aggregate requirements of the end user. The processing of steel slags for metals recovery is not only important to
remove excess steel at the market source for reuse at the steel plant, but is also important to facilitate the use of
the nonmetallic steel slag as construction aggregate. This nonmetallic slag material can both be crushed and

screened for aggregate use (steel slag aggregates), or sintered and recycled as flux material in the iron and steel
furnaces.

Statement 1 is correct: The aggregates are typically iron and/or steel slag, sand, gravel or crushed rock, and they
are bound together with asphalt itself, which is bitumen. It can be used in with applications that include
embankments, engineered fill, highway shoulders, and hot mix asphalt pavement.
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Statement 2 is correct: Steel slags can be used in the agricultural sector due to its ability to correct soil acidity,

as it contains some nutrients for the plants and also as silicate fertilizer that is capable of providing silicon to
the plants.

Statement 3 is correct: Steel slag can also replace granulated blast furnace slag up to 10% in the manufacture
of Portland Slag Cement.

Source
https://ncert.nic.in/ncerts/1/legy208.pdf

Thus, Option d is correct.

77. Which of the following are the most likely places to find the musk deer in its natural habitat?

1. Askot Wildlife Sanctuary

2. Gangotri National Park

3. Kishanpur Wildlife Sanctuary

4. Manas National Park

Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 and 3 only

(c)3and 4 only

(d) 1and 4 only
Answer: a

Musk deer is a small compact deer belonging to the family Cervidae. A solitary shy animal, the musk deer lives in
mountainous regions from Siberia to the Himalayas. Askot Musk Deer Sanctuary is located 54 km from
Pithoragarh near the town of Askot in Uttarakhand. Gangotri National Park in Uttarkashi District of
Uttarakhand is also a habitat of musk deer. The Kishanpur Wildlife Sanctuary is a part of the Dudhwa Tiger

Reserve near Mailani in Uttar Pradesh, India. Manas National Park or Manas Wildlife Sanctuary is a national park,

UNESCO Natural World Heritage site, a Project Tiger reserve, an elephant reserve and a biosphere reserve in
Assam, India

Thus, Option a is correct.

78. In rural road construction, the use of which of the following is preferred for ensuring environmental
sustainability or to reduce carbon footprint?

1. Copper slag

2. Cold mix asphalt technology
3. Geotextiles

4. Hot mix asphalt technology
5. Portland cement

Select the correct answer using the code given below:
(a) 1,2 and 3 only

(b) 2,3 and 4 only

(c) 4 and 5 only

(d) 1 and 5 only
Answer: a

e The use of copper slag in cement and concrete provides potential environmental as well as economic benefits
for all r elated industries, particularly in areas where a considerable amount of copper slag is produced.
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e Cold Mix on the other hand is a pavement technology without heating the aggregates using cationic
bitumen emulsion. The usage of Cold mix bitumen Emulsion in India is a sustainable technology and ideal
for India as use of bitumen emulsion negates the heating of aggregate and binder.

e Geotextiles are mostly used in road construction, especially to fill gaps between the roads to improve soil
structure. Geotextile makes poor soil more beneficial for use and then easy to build in difficult places also. It
helps to prevent the erosion of soil but allows the water to drain off.

e The wide use of hot mix technology leads to environmental pollution as these plants emit a huge amount
of Greenhouse gases.

e Portland cement emits enormous amounts of carbon dioxide (CO 2) as well as numerous other pollutants

Source
https://www.globalslag.com/news/itemlist/tag/Roads

http://ddnews.gov.in/business/coir-geo-textiles-gets-nod-rural-road-construction

Thus, Option a is correct.

79. Consider the following statements:

1. Coal ash contains arsenic, lead and mercury.

2. Coal-fired power plants release sulphur dioxide and oxides of nitrogen into the environment.
3. High ash content is observed in India coal.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and3

Answer: d

Statement 1 is correct: Coal ash contains contaminants like lead, mercury, cadmium, chromium, arsenic and
selenium. Without proper management, these contaminants can pollute waterways, ground water, drinking
water, and the air.

Statement 2 is correct: India is the largest emitter of sulphur dioxide in the world, with more than 15% of all the
anthropogenic sulphur dioxide hotspots. This was detected by the NASA OMI (Ozone Monitoring Instrument)
satellite. Almost all of these emissions in India are because of coal-burning in thermal power plants. The vast
majority of coal-based power plants in India lack flue-gas desulphurization technology to reduce air pollution.

In a first step to combat pollution levels, the MoEFCC introduced, for the first time, sulphur dioxide emission
limits for coal-fired power plants in December 2015. But the deadline for the installation of flue-gas
desulphurization (FGD) in power plants has been extended from 2017 to 2022.

Nitrogen oxides are another set of gases that are released to the atmosphere by thermal power plants.
Thermal power plants are also one of the biggest contributors to the global nitrogen oxide levels. Unlike nitrous
oxides, nitrogen oxides are again not technically greenhouse gases, but they do have an indirect effect on the
atmosphere. Nitrogen oxides are known to present visibility and respiratory issues, and they can also combine
with other atmospheric gases and moisture to form acid rain and smog.

The other big pollutant to the atmosphere is ash. Ash often contains harmful particulate matter, as well as heavy
metals. Ash can have multiple effects; it can get into waterways and soil wherever it falls (it doesn’t have to be
the local environment) and change the alkalinity of the soil/water, which can render the soil unusable for
agricultural purposes and the water undrinkable, and it can cause visibility issues. Ash, and the particulate matter
contained within are also a major cause of smog—which is being seen in many cities around the world on a much
more frequent and hazardous scale.

Carbon dioxide is one of the main gases that is released from the burning of the fossil fuels and is known to be a
greenhouse gas and a contributor of global warming. Out of all the gases released from a thermal power plant,
carbon dioxide is the main one, and thermal power plants are one of the main contributors to the increased
carbon dioxide levels throughout the world
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Statement 3 is correct: Coal India Limited announced that ash content of coal produced in the country is
generally 25 to 45 % whereas average ash content of imported coal varies from 10 to 20 %.

Source
https://indiaclimatedialogue.net/2020/07/27/coal-ash-poses-serious-environmental-and-health-hazards/
https://www.azocleantech.com/article.aspx?ArticlelD=861#:~:text=0ut%200f%20all%20the%20gases,is%20rel
eased%20from%20power%20plants.

Thus, Option a is correct.

80. What is the use of biochar in farming?

1. Biochar can be used as a part of the growing medium in
vertical farming.

2. When biochar is a part of the growing medium, it promotes
the growth of nitrogen-fixing microorganism.

3. When biochar is a part of the growing medium, it enables
the growing medium to retain water for longer time.

Which of the statements given above is/are correct?
(a)1 and 2 only

(b) 2 only

(c) 1and 3 only

(d)1,2and3

Answer: d

Biochar is a high-carbon, fine-grained residue that is currently produced through modern pyrolysis processes
(direct thermal decomposition of biomass in the absence of oxygen and preventing combustion). It produces a
mixture of solids (the biochar proper), liquid (bio-oil), and gas (syngas) products. Biochar may increase soil fertility
of acidic soils (low pH soils), increase agricultural productivity, and provide protection against some foliar and
soil-borne diseases. The burning and natural decomposition of biomass releases large amounts of carbon dioxide
and methane to the Earth’s atmosphere. The biochar production process also releases CO2 (up to 50% of the
biomass); however the remaining carbon content is stable indefinitely. Its presence in the earth can improve
water quality, increase soil fertility, raise agricultural productivity, and reduce pressure on old-growth forests.
Statement 1 is correct: The extremely porous nature of biochar is found to be effective at retaining both water
and water-soluble nutrients. Given the properties it can be used as a hydroponic material and it can be used to
grow vertical farming.

Statement 2 is correct: Adding biochar to soil promotes the life of nitrogen - fixing microorganisms, biochar can
also decrease soil N20 emission, and increase nitrogen use efficiency and nitrogen retention in the soil
Statement 3 is correct: Biochar is hygroscopic. Thus it is a desirable soil material in many locations due to its
ability to attract and retain water.

Thus, Option d is correct.

81. If a particular plant species is placed under Schedule VI of The Wildlife Protection Act, 1972, what is the
implication?

(a) A licence is required to cultivate that plant.

(b) Such a plant cannot be cultivated under any circumstances.

(c) It is a Genetically Modified crop plant

(d) Such a plant is invasive and harmful to the ecosystem.

Answer: a

Wildlife Protection Act, 1972
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This Act provides for the protection of the country’s wild animals, birds, and plant species, in order to ensure
environmental and ecological security. Among other things, the Act lays down restrictions on hunting many
animal species.

Salient Features of Wildlife Protection Act

This Act provides for the protection of a listed species of animals, birds, and plants, and also for the establishment
of a network of ecologically-important protected areas in the country. The Act provides for the formation of
wildlife advisory boards, wildlife wardens, specifies their powers and duties, etc.

e Scheduled animals are prohibited from being traded as per the Act’s provisions.

e The Act provides for licenses for the sale, transfer, and possession of some wildlife species.

e It provides for the establishment of wildlife sanctuaries, national parks, etc.

e lts provisions paved the way for the formation of the Central Zoo Authority. This is the central body
responsible for the oversight of zoos in India. It was established in 1992.

e The Act created six schedules which gave varying degrees of protection to classes of flora and fauna.

e Schedule | and Schedule Il (Part Il) get absolute protection, and offences under these schedules attract the
maximum penalties.

e The schedules also include species that may be hunted.

e The National Board for Wildlife was constituted as a statutory organization under the provisions of this Act.

e The Act also provided for the establishment of the National Tiger Conservation Authority.

Schedules of the Wildlife Protection Act
There are six schedules provided in the Wildlife Protection Act. They are discussed in the table below.
Schedule |

This Schedule covers endangered species. These species need rigorous protection and therefore, the harshest
penalties for violation of the law are under this Schedule. Species under this Schedule are prohibited to be
hunted throughout India, except under threat to human life. Absolute protection is accorded to species on this
list. The Trade of these animals is prohibited. Examples: tiger, blackbuck, Himalayan Brown Bear, Brow-Antlered
Deer, Blue whale, Common Dolphin, Cheetah, Clouded Leopard, hornbills, Indian Gazelle, etc.

Schedule Il
Animals under this list are also accorded high protection. Their trade is prohibited. They cannot be hunted except

under threat to human life. Examples: Kohinoor (insect), Assamese Macaque, Bengal Hanuman langur, Large
Indian Civet, Indian Fox, Larger Kashmir Flying Squirrel, Kashmir Fox, etc.

Schedule Ill & IV
This list is for species that are not endangered. This includes protected species but the penalty for any violation is

less compared to the first two schedules. Examples: hyena, Himalayan rat, porcupine, flying fox, Malabar tree
toad, etc.

Schedule V

This schedule contains animals that can be hunted. Examples: mice, rat, common crow, fruit bats, etc.

Schedule VI

The specified endemic plants in Schedule VI are prohibited from cultivation and planting. The hunting to the
Enforcement authorities have the power to compound offences under this Schedule (i.e. they impose fines on the
offenders). "Cultivation of specified plants without license prohibited. - (1) no person shall cultivate a specified
plant except under, and in accordance with a license granted by the Chief Wildlife Warden or any other officer

authorized by the State Government in this behalf; 2) Every license granted under this section shall specify the
area in which and the conditions, if any, subject to which the licensee shall cultivate a specified plant."

Thus, Option a is correct.

82. With reference to the period of Gupta dynasty in ancient India, the towns, Ghantasala, kadura and Chaul were
well known as.

(a) Port handling foreign trade
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(b) Capitals of powerful kingdoms

(c) Places of exquisite stone art and architecture
(d) Important Buddhist pilgrimage centers
Answer: a

The gupta period was known to have prosperous ports . In the Andhra region, the ports were Kadura and
Ghantasala, Kaveripattanam (Puhar). The Roman Empire carried trade through the ports of Kalyan, Chaul,
Broach, and Cambay in Western India

Source
OLD NCERT - Medieval India -Satish chandra page no. 93 - chapter: The Bahmani Kingdom — Its Expansion and Disintegration

Thus, Option a is correct.

83. What is/are the advantage/advantages of zero tillage in agriculture/

1. Sowing of wheat is possible without burning the residue of previous crop.
2. Without the need for nursery of rice saplings, direct planting of paddy seeds in the wet soil is possible.
3. Carbon sequestration in the soil is possible.

Select the correct answer using code given below:

(a) 1and 2 only

(b) 2 and 3 only

(c) 3 only

(d)1,2and3

Answer: d

Zero Tillage

Tillage is an agriculture land preparation through mechanical agitation which includes digging, stirring and
overturning. Zero tillage is the process where the crop seed will be sown through drillers without prior land
preparation and disturbing the soil where previous crop stubbles are present. Zero tillage not only reduce the
cost of cultivation it also reduces the soil erosion, crop duration and irrigation requirement and weed effect
which is better than tillage. Zero Tillage (ZT) also called No Tillage or Nil Tillage.

No Till Farming / Zero Tillage / Direct Drilling

An agricultural technique for growing crops or pasture without disturbing the soil through tillage. No-till farming
decreases the amount of soil erosion tillage causes in certain soils, especially in sandy and dry soils on sloping
terrain. Other possible benefits include an increase in the amount of water that infiltrates into the soil, soil
retention of organic matter, and nutrient cycling. These methods may increase the amount and variety of life in
and on the soil. Typically, no-tillage systems require the use of very large amounts of herbicides to control
weeds.

No-till farming is widely used in the United States and the number of acres managed in this way continues to
grow. This growth is supported by a decrease in costs. No-till management results in fewer passes with
equipment, and the crop residue prevents evaporation of rainfall and increases water infiltration into the soil.

Advantages of zero tillage

. Reduction in the crop duration and thereby early cropping can be obtained to get higher yields.

. Reduction in the cost of inputs for land preparation and therefore a saving of around 80%.

. Residual moisture can be effectively utilized and number of irrigations can be reduced.

. Dry matter and organic matter get added to the soil.

. Environmentally safe — Greenhouse effect will get reduced due to carbon sequestration.

. No tillage reduces the compaction of the soil and reduces the water loss by runoff and prevent soil erosion.

N o o A WN R

. As the soil is intact and no disturbance is done, No Till lands have more useful flora and fauna.
Zero tillage in India
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The zero-tillage system is being followed in the Indo-Gangetic plains where rice-wheat cropping is present. Wheat
will be planted after rice harvest without any operation. Hundreds of farmers are following the same system and
getting more yields and profits by reducing the cost of cultivation. In South, districts like Guntur and some parts
of West Godavari of Andhra Pradesh state follow the ZT system in rice-maize cropping system.

Statement 1 is correct: Zero-tillage wheat allows for a drastic reduction in tillage intensity and this method allows
skipping crop residual burning resulting in significant cost savings and ecological damage mitigation as well as
realizing potential gains in wheat yield through earlier planting of wheat.

Statement 2 is correct: Direct seeded rice (DSR) has received much attention because of its low - input demand.
Zero tillage proves better for direct-seeded rice, maize, soybean, cotton, pigeonpea, mungbean, clusterbean,
pearlmillet during kharif season and wheat, barley, chickpea, mustard and lentil during rabi season.

Statement 3 is correct: Adopting no -tillage in agro -ecosystems has been widely recommended as a means of
enhancing carbon (C) sequestration in soils. (Ref: Policy paper 31 - Doubling Strategy for Doubling Income of
Farmers in India).

Source
https://www.ifpri.org/publication/zero-tillage-rice-wheat-systems-indo-gangetic-plains

Thus, Option d is correct.
84. According to India's National Policy on Biofuels, which of the following can be used as raw materials for the
production of biofules?

1. Cassava

2. Damaged wheat grains
3. Groundnut seeds

4. Horse gram

5. Rotten potatoes

6. Sugar beet

Select the correct answer using the code given below:
(a) 1,2,5and 6 only

(b) 1, 3,4 and 6 only

(c) 2,3,4and5 only
(d)1,2,3,4,5 and6
Answer: a

Under the National Policy on Biofuels ‘bioethanol’ is defined as ethanol produced from biomass such as sugar
containing materials, like sugar cane, sugar beet, sweet sorghum etc.; starch containing materials such as corn,
cassava, rotten potatoes, algae, damaged crop residues etc.; and, cellulosic materials such as bagasse, wood
waste, agricultural and forestry residues or other renewable resources like industrial waste. ‘biodiesel’: a
methyl or ethyl ester of fatty acids produced from non-edible vegetable oils, acid oil, used cooking oil or animal
fat and bio-oil; Groundnut seeds and Horse gram are edible substances hence not employed as biofuels.

Source
http://petroleum.nic.in/sites/default/files/biofuelpolicy2018 1.pdf

Thus, Option a is correct.

85. Which one of the following statements best describes the term 'Social Cost of Carbon', It is a measure, in
monetary value, of the

(a) Long term damage done by a tonne of CO2 emissions in a given year.

(b) Requirement of fossil fuels for a country to provide goods and services to its citizens, based on the burring of
those fuels.

(c) Efforts put in by a climate refugee to adapt to live in a new place.
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(d) Contribution of individual persons to the carbon footprint on the planted Earth.

Answer: a

The social cost of carbon (SCC) is an estimate, in dollars, of the economic damages that would result from
emitting one additional tonne of greenhouse gases into the atmosphere. The SCC puts the effects of climate
change into economic terms to help policymakers and other decision makers understand the economic impacts
of decisions that would increase or decrease emissions.

Source
https://www.carbonbrief.org/qa-social-cost-carbon

Thus, Option a is correct.

86. With reference to pulse production in India, consider the following statements:

1. Black gram can be cultivated as both kharif and rabi crop.

2. Green-gram alone account for nearly half of pulse production.

3. In the last three decades while the production of kharif pulse has increases, the production of rabi pulses has
decreased.

Which of the statements above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d)1,2and3

Answer: a

Statement 1 is correct: Black Gram is cultivated in all the three seasons viz., kharif, rabi and zaid
(spring/summer). As a catch crop, in between rabi and kharif crops, after the harvest of rabi crops, like wheat,
potato, mustard, sugarcane, etc., it is grown under irrigated conditions/rice fallow areas. During 2016-17,
mungbean recorded the ever highest production at 20.70 lakh tons (kh-15.28 + rabi- 5.42 lakh tons), which is 38%
higher over the Normal and 30% higher than the last year. Rajasthan, with 48% of total all India production during
kharif and >31 % collectively in a crop year, ranks Ist in the country. During, rabi, TN with 19 % of national

production stands at Ist position. More than 90% of Mungbean production comes from 10 states, namely
Rajasthan, Maharashtra, TN, AP, Bihar, MP, Odisha, Gujarat, Telangana and Karnataka

Statement 2 is incorrect: Chickpeas is the most dominant pulse having a share of around 40 per cent in the total
production followed by Tur/Arhar at 15

{Area-lakh ha, Production-lakh tonnes, Yield-kg/ha}

to 20 per cent and Urad/Black Matpe

Crop Season Area Production Productivity
and Moong at around 8-10 per cent i _
h Arhar Kharif 39.24 (37.17%) 28.44 (26.94%) 725
each. Urd Kharif 24.78 (23.48%) 12.87 (12.19%) 519
Statement 3 is incorrect : The RabySummer | 7.85 (5.72%) 5.85 (4.26%) 745
country’s pulses production stood at Total 32.64 18.72 574
. Moong Kharif 23.41 (22.17%) 9.70 (9.18%) 414
234 lakh tonne in the 2018-19 crop i _ _ _
Rabry/Summer 9.26 (6.75%) 5.35 (3.90%) 577
year, down from the record level of Total 3567 5.04 260
254 lakh tonne in 2017- 18. The Horse gram Kharif 2.40 (2.28%) 1.10 (1.04%) 457
. . L S 2.2 .60% .12 (0.82% 509
production of pulses for both Rabi and Rabi/Summer 0 (1.60%) 1.12 (0.82%) >0
. ] . Total 4.60 222 432
Kharlf seasons haS Increased n the IaSt Moth Kharif 10.43 (9.88%) 3.37 (3.19%) 323
three decades. Production of Kharif Chickpea Rabi 86.80 (63.25%) 30.90 (58.96%) 932
pu|ses in 2000 _01 was 4448 |akh Lentil Rabi 14.14 (10.31%) 10.44 (7.61%) 738
. . Peas & Beans Rabi 8.72 (6.36%) 8.20 (5.98%) 940
tonnes which increased to 55.30 lakh i i : - _
Lathyrus Rabi 4.70 (3.43%) 3.65 (2.66%) 776
tonnes by 2016 -17. The production of Other Pulses Kharif 5.30 (5.02%) 2.98 (2.82%) 562
Rabu pulses has also increased from Rabi/Summer 3.55 (2.58%) 2.40 (1.75%) 677
Total 8.84 5.38 608
Corp Office-Nandanavanam Compl | ™% i i e o
- - RabvS 137.22 117.91 859
Main Campus- Padmashali Seva Sz — >
Total Pulses 242.79 176.36 726
Dulapally Road, Kompally, Hyderal

Source: DES, DAC&FW,ND (Normal- Avg. 2011-12 to 2015-16).(figures in parenthesis indicates % share of crop)
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66.27 lakh tonnes in 2000 -01 to 108.18 lakh tonnes in 2015 -16.

Source

http://dpd.gov.in/Reterospects%20and%20Prospects%202017.pdf
https://farmer.gov.in/SucessReport2018-19.pdf

Thus, Option a is correct.

87. "The Crop is subtropical in nature. A hard frost is injurious to it. It requires at least 210 frost free days and 50
to 100 centimeters of rainfall for its growth. A light well drained soil capable of retaining moisture is ideally suited
for the cultivation of the crop. Which one of the following is that crop?

(a) Cotton
(b) Jute

(c) Sugarcae
(d) Tea

Answer: a

Cotton Plant Climate Requirements India Cotton Production (5-year Average)

Cotton is a plant that needs a long frost-free
period, a lot of heat and plenty of sunshine. It
prefers warm and humid climate. Cotton seeds
will have a small germination rate, if the soil
temperature is below 60°F (15°C). During active
growth, the ideal air temperature is 70 to 100°F L
(21-37°C). Temperatures well above 100°F are
not desirable. However, the average cotton
plant can survive in temperatures up to 110°F

Thousand Tons

(43°C) for short periods without great damage, (Syesrsvrae
but this also depends on the humidity levels. In Clo1-s

order to cultivate cotton plants successfully, we — e
shall not have frequent rainfalls during the W o0t -267

maturing (summer) and during the days of
harvest (during autumn).

; % = Percent of Total Production F/
Y Source: India Ministry of Agricuiture, Directorate of Economics
\__and Statistics, Market Year 2008/09 - 2012/13 data by districts

Cotton Plant Soil Requirements and

Preparation

Cotton can grow in almost all well drained soils. However, suitable soils for achieving high yields are considered
the deep well drained sandy loam soils, with enough clay, organic matter and a moderate concentration of
nitrogen and phosphorus. The best yields are often achieved in loamy soils that are rich in calcium carbonate. A
gentle slope generally helps the water drainage and is sometimes desired.

Thus, Option a is correct.

88. With reference to solar water pumps consider the followings statements:

1. Solar power can be used for running surface pumps and not for submersible pumps.

2. Solar power can be used for running centrifugal pumps and not the ones with piston.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

Corp Office-Nandanavanam Complex, 3rd Floor, S.R.Nagar, Hyderabad, Mob no- 7997992479

Main Campus- Padmashali Seva Samajam Boys Hostel Opp: St. Martins Eng. College,
Dulapally Road, Kompally, Hyderabad 500014, Mob No-7997992487/88



IGNITE GEN.STUDIES & CSAT

(d) Neither 1 nor 2
Answer: d

Statement 1 is incorrect: A solar water pump system is essentially an electrical pump system in which the
electricity is provided by one or several Photo Voltaic (PV) panels. A typical solar powered pumping system
consists of a solar panel array that powers an electric motor, which in turn powers a bore or surface pump. The
water is often pumped from the ground or stream into a storage tank that provides a gravity feed, so energy
storage is not needed for these systems. It depends on the water source which pump type is more suitable. In
the case of a well, the pump needs to be placed underwater. Surface pumps can be placed at the side of a lake
or, in the case of a floating pump, on top of the water. Surface pumps are less expensive than submersible
pumps, but they are not well suited for suction and can only draw water from about 6.5 vertical meters.
Surface pumps are excellent for pushing water over long distances.

Statement 2 is incorrect: The centrifugal pump, which uses high speed rotation to suck water in through the
middle of the pump. Most conventional Alternating Current (AC) pumps use such a centrifugal impeller. However,
when operating at low power the performance of the pump drops dramatically. This makes centrifugal pumps
less suitable for solar applications, since low power due to cloudy weather is to be expected

The positive displacement pump, which usually uses a piston to transfer water. Many solar water pumps use
the positive displacement pump, which brings water into a chamber and then forces it out using a piston or
helical screw. These types generally pump slower than other types of pumps, but have good performance under
low power conditions and can achieve high lift. Since PV is expensive and is an intermittent power supplier, solar
pumps need to be as efficient as possible. Efficiency of the pump is measured in the amount of water pumped
per watt of electricity used.

Thus, Option d is correct.

89. With reference to the current trends in the cultivation of sugarcane in India, consider the following
statements:

1. A substantial saving in seed material is made when 'bud chip settlings' are raised in a nursery and transplanted
in the main field.

2. When direct planting of setts in done the germination percentages is better with single-budded setts as
compared to setts with many buds.

3. If bad weather conditions prevail when setts are directly planted, single budded setts have better survival as
compared to large setts.

4. Sugarcane can be cultivated using setting prepared from tissues culture.

Which of the statements given above is/are correct?

(a) 1and 2 only

(b) 3 only

(c) 1and 4 only

(d) 2,3 and 4 only

Answer: c

Statement 1 is correct: Sugarcane is a vegetative propagated. However cane cuttings involve propagation with
one, two or three buds known as setts are used as seed. In India, for conventional system of sugarcane
cultivation, about 6 — 8 tonnes seed cane /ha is used as planting material, which comprises of about 32,000 stalk
pieces having 2-3 buds. v This large mass of planting material poses a great problem in transport, handling and
storage of seed cane and undergoes rapid deterioration thus reducing the viability of buds and subsequently their
sprouting.

Bud chips settlings

One alternative to reduce the mass and improve the quality of seed cane would be to plant excised axillary
buds of cane stalk, popularly known as bud chips. These bud chips are less bulky, easily transportable and more

economical seed material. The bud chip technology holds great promise in rapid multiplication of new cane
varieties. The left-over cane can be well utilized for preparing juice or sugar or jiggery.
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Statement 2 is incorrect: Germination percentage of single bud sett is very low because of moisture loss from
other cut end. Various research and experiment shows that, germination percentage of 3 bud sets is higher than
the setts having more or less than three buds.

Statement 3 is incorrect: Large setts seeds have better survival as compared to single budded seeds when seeds
are directly planted in prevailing bad weather conditions.

Statement 4 is correct: Planting is the most important and labour intensive operation in sugarcane cultivation. To
rapidly produce and supply disease-free seed cane of existing commercial varieties Tissue culture is an exciting

Source P

http://www.iisr.nic.in/download/publications/ijst-December-2011.pdf
http://www.plantsjournal.com/archives/2017/volSissue3/PartE/5-3-41-168.pdf

Thus, Option c is correct.

90. In the context of India, which of the following is/are considered to the practices(s) of eco-friendly agriculture?
1. Crop diversification

2. Legume intensification

3. Tensiometer use

4. Vertical farming

Select the correct answer using the code given below:
(a) 1, 2 and 3 only

(b) 3 only

(c) 4 only

(d)1,2,3and4

Answer: d

Option 1 is correct: Crop diversification: It refers to the addition of new crops or cropping systems to agricultural
production on a particular farm taking into account the different returns from value-added crops with
complementary marketing opportunities. The introduction of new cultivated species and improved varieties of
crop is a technology aimed at enhancing plant productivity, quality, health and nutritional value and/or building
crop resilience to diseases, pest organisms and environmental stresses. Diversification has usually been done
by the farmers to en-hance nitrogen in the soil and to replenish the soil fertility. It has been established by the
agricultural scientists that crop specialization and monoculture for several years lead to soil depletion. In other
words crop diversification increases the sustainability of arable land.

GOVERNMENT INITIATIVES TOWARDS CROP DIVERSIFICATION:

» National Mission on Oilseeds and Oil Palm (NMOOP) programme is under implementation since 2014-15.
The various interventions of this Mission are implemented through the State Government. Under this
programme the Transfer of Technology (TOT) component, the assistance is provided to states for conducting
Farmers Training and Trainers Training programme, in which training is provided to the farmers and
extension workers educating the farmers to avail the benefits of the NMOOP programme.

» The Mission for Integrated Development of Horticulture (MIDH), envisages production and productivity
improvement of horticulture crops like fruits (including Apple) and vegetables through various interventions.
Activities such as production of planting material, vegetable seed production, coverage of area with improved
cultivars, rejuvenation of senile orchards, protected cultivation, creation of water resources, adoption of
Integrated Pest Management (IPM), Integrated Nutrient Management (INM), organic farming, including insitu
generation of organic inputs are taken up for development of fruits and vegetables. Capacity buildings of
farmers and technicians are also provided for adopting improved technologies. Scheme also envisages
creation of infrastructure for post-harvest management (PHM) and marketing for better price realization of
produce.

» Sub Mission on Agro Forestry: The policy recommends for setting up of a Mission or Board to address
development of agroforestry sector in an organised manner. The Sub-Mission on Agroforestry (SMAF) under
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National Mission for Sustainable Agriculture (NMSA) is an initiative to this end. The aim of the submission is
to expand the tree coverage on farmland in complementary with agricultural crops.

» Technology Mission on Cotton: The scheme aims at improving production, productivity and quality of cotton,
and seeks to enhance Research and Development on cotton and Dissemination of Technology to farmers.

» Jute Technology Mission (JTM) as a major initiative for overall development of the jute industry and growth
of the jute sector. National Jute Board and Jute Corporation of India work on projects with National Institute
of Research on Jute & Allied Fibre Technology (NIRJAFT) and Central Research Institute for Jute and Allied
Fibres (CRIJAF) to develop better jute seeds and to improve agronomical practices for jute cultivation.

Option 2 is correct: Legumes fix the atmospheric nitrogen, release in the soil high-quality organic matter and
facilitate soil nutrients' circulation and water retention. Major pulses grown in India are tur (arhar), urad, moong,
masur, peas and gram. Being leguminous crops, all these crops except arhar help in restoring soil fertility by fixing
nitrogen from the air.

Option 3 is correct: A tensiometer in soil science is a measuring instrument used to determine the matric water
potential. tensiometers are used in irrigation scheduling to help farmers and other irrigation managers to
determine when to water. In conjunction with a water retention curve, tensiometers can be used to determine
how much to water. With practice, a tensiometer can be a useful tool for these purposes. Soil tensiometers can
also be used in the scientific study of soils and plants. Since they reduce water wastage they are consider as
ecofriendly in nature.

APPLICATIONS OF TENSIOMETERS

» They are used to determine rooting depth. One can follow readings with time, and the rate of increase in soil
tension at any given depth can be related to the density of the active roots.

» They are used for timing of field irrigations. It is time to irrigate when tensiometer readings reach a
prescribed value for a soil depth where feeder root concentration is greatest. The duration of an irrigation is
judged with tensiometers measuring soil tension at a second or greater depth. If tension readings at this
second depth are low (high matric potential), an irrigation of short duration is indicated. Conversely, if they
are high, irrigation water should be allowed to run until readings are low.

» They are used to determine timing of greenhouse irrigations for potted plants and greenhouse beds. Under
these conditions, only one depth is read.

» The water table level is determined using tensiometers. When a reading on a tensiometer in the field is below
zero, this is evidence that a water table occurs above the depth of the cup. The negative reading in millibars is
equivalent to the distance in centimeters from the water table to the cup depth. The water table may rise
and fall, and tensiometers will show this (negative versus positive readings).

Option 4 is correct: Vertical Farming is the process of growing agricultural crops in vertical stacks in door, in a
controlled environment. It uses the same amount of water as that of regular farming. However, the other raw
materials consumed by vertical farming are less. According to FAO (Food and Agriculture Organization) of the
United Nations, vertical farming consumes 75% less raw material as compared to traditional farming.

Benefits: Under Vertical Farming, the plants are grown indoors with or without soil. This protects the crops from
incessant rains, unruly winds and dry climate. The crop yield in vertical farming is more than traditional farming
as it adopts two major farming techniques namely hydroponics and aeroponics.

Hydroponics and Aeroponics: In Hydroponics technique, roots are submerged in water that is infused with
nutrients. Aeroponics is a farming method where plants are grown in closed or semi-closed environment with
nutrients sprayed in the air.

Thus, Option d is correct.

91. What are the advantages of fertigation in agriculture?

1. Controlling the alkalinity of irrigation water is possible.

2. Efficient application of Rock Phosphate and all other phosphatic fertilizers is possible.
3. Reduction in the leaching of chemical nutrients is possible.

Select the correct answer using the code given below:

(a) 12 and 3 only
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(b) 1,2 and 4 only
(c)1,3and 4 only
(d) 2,3 and 4 only

Answer: C
Fertigation

It is a practice of conjunctive application of fertilizers and water to crop plants. Soluble fertilizers like urea, potash
and a wide variety of fertilizer mixtures available in the market are mixed with irrigation water, filtered and then
passed through the irrigation unit.

Statement 1 is correct: %. The most common method for minimizing the “liming effect” of high alkalinity is to
neutralize it by adding a strong mineral acid (usually sulfuric acid or phosphoric acid) directly to the irrigation
water in fertigation. The acid causes the water pH to decrease, which neutralizes some of the alkalinity.

Statement 2 is incorrect: Phosphorous fertigation is generally not recommended for application through drip
irrigation system because of its tendency to cause clogging.

http://agropedia.iitk.ac.in/content/fertigation
Statement 3 is correct: Drip fertigation reduces dissolved inorganic and organic N leaching by 90%.

Statement 4 is correct: Fertigation results in balanced nutrient application, reduced fertiliser requirement of
around 7 to 42 per cent (thus, saving expenditure cost incurred by farmer), higher nutrient uptake and nutrient
use efficiency.

Thus, Option c is correct.

92. Consider the following minerals:
1. Bentonite

2. Chromite

3. Kyanite

4. Sillimanite

In India, which of the above is/are officially designated as major minerals?
(a) 1 and 3only

(b) 4 only

(c) 1and 3 only

(d) 2,3 and 4 only

Answer: d

Major minerals are those specified in the first schedule appended in the Mines and Minerals (Development and
Regulation) Act, 1957 (MMDR Act 1957) and the common major minerals are Lignite, Coal, Uranium, iron ore,
gold etc.Hence, whatever is not declared as a “minor mineral” may be treated as the major mineral. The power to
frame policy and legislation on the minor minerals are entirely subjected and delegated to the State
Governments while policy and legislation relating to the major minerals are dealt by the Ministry of Mines under
the Central Government of India.

Bentonite is a Minor minerals as per India Bureau of Mines. Indian Minerals Year book 2017 says India is a
major producer of Kyanite and Sillimanite

Source
https://ibm.gov.in/index.php?c=pages&m=index&id=1027

Thus, Option d is correct.

93. With references to Ocean Mean Temperature (OMT) which of the following statements is/are correct?
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1. OMT is measured up to a depth of 26°C isotherm which is 120 meters in the south-western Indian Ocean
during January-March.

2. OMT collected during January-March can be used in assessing whether the amount of rainfall in monsoon will
be less or more than a certain long-term Mean.

Select the correct answer using the code given below:
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 and 2

Answer: b

Ocean Mean Temperature (OMT) is an important climatic parameter required for atmospheric and oceanic
studies like cyclone and monsoon predictions and ocean heat transport estimations.

Statement 1 is incorrect: The 26 degree C isotherm is seen at depths varying from 50-100 metres. During
January—March, the mean 26 degree C isotherm depth in the Southwestern Indian Ocean is 59 metres.

Statement 2 is correct: The information on whether the amount of monsoon rainfall will be more or less than the
long-term mean will be available by beginning of April, two months before the southwest monsoon can set in.
This is because OMT is analyzed by measuring the ocean thermal energy during the period from January to
March.

Thus, Option b is correct.

94. With reference to chemical fertilizers in India, consider the following statements:

1. At present, the retail price of chemical fertilizers is market driven and administered by the Government.
2. Ammonia, which is an input of urea is produced from natural gas.

3. Sulphur, which is a raw material for phosphoric acid fertilizer, is a byproduct of oil refineries.

Which of the statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d)1,2and3

Answer: b

Statement 1 is incorrect: Fertilizer industry is under the control of the Union Government (being in the First
Schedule of the IDR (Industries (Development and Regulation)) Act, 1951 vide Entry 52 of List | and also Entry 33
of List lll. It has several mechanisms to regulate the prices such as Fertilizer Control Order (FCO) under the
Essential Commodities Act, 1957, Retention Pricing Scheme (RPS, New Urea Policy of 2015 etc.

Statement 2 is correct: A typical modern ammonia-producing plant first converts natural gas (i.e., methane) or
LPG (liquefied petroleum gases such as propane and butane) or petroleum naphtha into gaseous hydrogen. The
method for producing hydrogen from hydrocarbons is known as steam reforming. The hydrogen is then
combined with nitrogen to produce ammonia via the Haber-Bosch process.

Statement 3 is correct: The phosphorus component is made using sulfur, coal, and phosphate rock. Sulfur is a
major by-product of oil refining and gas processing.

Source
https://fert.nic.in/faq

Thus, Option b is correct.

95. With reference to India's Desert National Park, which of the following statements are correct?
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1. It is spread over two districts.

2. There is no human habitation inside the Park.

3. It is one of the natural habitats of Great Indian Bustard.
Select the correct answer using the code given below:

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d)1,2and3

Answer: ¢

Statement 1 is correct: Desert National Park Situated in Jaisalmer and Barmer districts of Indian state
Rajasthan. It covers an area of 3162 km? of which 1900 km? is in Jaisalmer district and remaining 1262 km? is in
Barmer district.

Statement 2 is incorrect: There are 73 villages and also settlements or Dhanis existing within the Park.

Statement 3 is correct: The greatest attraction of the park is the great Indian bustard, it is a critically
endangered species found only in India. Desert National Park is one of the last sites in which this species can be
found in good numbers.

Thus, Option c is correct.
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Thus, Option d is correct.

97. With reference in the history of India, consider the following pairs:

Famous Place Present State

1. Bhilsa Madhya Pradesh
2. Dwarasamudra Maharashtra

3. Girinagar Gujarat

4. Sthanesvara Uttar Pradesh

Which of the pairs given above are correctly matched?
(a) 1and 3 only

(b) 1 and 4only

(c) 2and 3 only

(d) 2 and 4 only

Answer: a

e Vidisha was the administrative headquarters of Bhelsa, or Bhilsa, during the medieval period. It was
renamed Vidisha in 1956. It is located | Madhya Pradesh.

e Halebidu (which used to be called Dorasamudra or Dwarasamudra) was the regal capital of the Hoysala
Empire in the 12th century. It is a town located in Hassan District, Karnataka
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e The group temples of Jainism are situated on the Mount Girnar situated near Junagadh in Junagadh
district, Gujarat, India. There temples are sacred to the Digambara and the Svetambara branches of
Jainism. Girnar, also known as Girinagar (‘city-on-the-hill’) or Revatak Parvata, is a group of mountains in
the Junagadh District of Gujarat

e Sthanesvara is the name of an ancient kingdom also known Thanesar. The Chinese pilgrim Hsuan Tsang
(Xuanzang) visited India during the reign of King Harsavardhana (606-647 CE). It is in Haryana

Thus, Option a is correct.

98. Consider the following statements:

1. 36% of India's districts are classified as "overexploited" or "critical" by the Central Ground Water Authority
(CGWA).

2. CGWA was formed under the Environment (Protection) Act.

3. India has the largest area underground water irrigation in the world.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d) 1 and 3 only

Answer: b

Statement 1 is incorrect: About 29% are are classified as critical. Out of the 5723 assessment units assessed
jointly by State Ground Water Departments and CGWB in the country, 4078 are safe (71%), 550 are semi critical
(10%), 226 are critical (4%) and 839 are over exploited (15%)

Statement 2 is correct: CGWA was constituted under section 3 (3) of Environment protect act, 1986.

Statement 3 is correct: The countries with the largest extent of areas equipped for irrigation with groundwater,
in absolute terms, are India (39millionha), China (19millionha) and the USA (17millionha).

Thus, Option b is correct.

99. Consider the following statements:

1. Jet stream occurs in the Northern Hemisphere only.

2. Only some cyclones develop on eye.

3. The temperature inside the eye of a cyclone is nearly 10°C lesser than that of the surroundings.
Which of the statements given above is/are correct?

(a) 1 only

(b) 2 and 3 only

(c) 2 only

(d) 1 and 3 only

Answer: ¢

Statement 1 is incorrect: Jet streams are fast flowing, relatively narrow air currents found in the atmosphere at
around 12 km above the surface of the Earth, just under the tropopause. They form at the boundaries of adjacent
air masses with significant differences in temperature, such as of the polar region and the warmer air to the
south. Because of Earth’s rotation the streams flow west to east in both the Northern Hemisphere and the
Southern Hemisphere due to the Coriolis Effect.

Statement 2 is correct: The hurricane's center is a relatively calm, generally clear area of sinking air and light

winds that usually do not exceed 15 mph (24 km/h) and is typically 20-40 miles (32-64 km) across. Only tropical
cyclones develop and eye. Temperate cyclones do not have an eye.
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Statement 3 is incorrect: There is very little wind and rain especially near the center. This is in stark contrast to
conditions in the eyewall, which contains the storm’s strongest winds. Due to the mechanics of a tropical
cyclone, the eye and the air directly above it are warmer than their surroundings.

Thus, Option c is correct.

100. Among the following Tiger Reserves which one has the largest area under the "Critical Tiger Habitat"?
(a) Corbett

(b) Ranthambore

(c) Nagarjunasagar-Srisailam

(d) Sunderbans

Answer: b

Critical 'tiger' habitats (CTHs), also known as core areas of tiger reserves—are identified under the Wild Life
Protection Act (WLPA), 1972. Nagarjunasagar- srisailam is largest tiger reserve with core area (critical tiger
habitat) of 1200 sq.km. Buffer area is the area peripheral to the critical tiger habitat or core area.

Source

https://ntca.gov.in/about-us/#tiger-reserves-2

Thus, Option b is correct.
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UPSC IAS Exam Analysis 2020 (Subject-wise): Paper 2

This paper comprises 80 Questions, each carrying 2.5 marks with a total of 200 marks.

Sr. Subjects Total Number of
No. Questions
1. Mental Ability, Analytical & Logical 22
Reasoning
2. Arthimetics 20
3. Comprehension; Interpersonal skills 25

including communication skills

3. Basic numeracy 8

6. Data interpretation 5

UPSC IAS Prelims Paper 1 Exam Analysis 2020 (Topic-wise)

e How many different sums can be formed with the denomination Rs 50, Rs100, Rs 200, Rs 500, Rs 2000
taking at least three denomination at a time?

e Inaclassthere are three groups A, B, C if one student from group A and two students from group B are
shifted to group C, then what happens to the average weight of the students of the class?

e For what value of N, the sum of a digit in the number (10n+1) is 2?

e Asum of Rs 2500 is distributed among x, y and z in the ratio 1/2:3/4:5/6. What is the difference between
the maximum share and the minimum share?

e What is the remainder when 51*27*35*62*75 is divided by 100?

e The recurring decimal representation 1.272727.... is equivalent to

e What is the least four-digit number when divided by 3,4,5 and 6 leaves a remainder 2 in each case?

e In the adult population of a city, 40% of men and 305 women are married. What is the percentage of the
married adult population if no men marries more than one woman and no woman marries more than
one man, and there are no widows and widowers?

e Data Interpretation: For which period was the natural growth grate maximum?

e  What is the greatest length x such that 3:1/2m and 8:3/4m are integral multiples of x?

e Afrogtries to come out of a dried well 4.5m deep with slippery walls. every time frog jumps 30 cm, slides
15 cm. What is the number of jumps required for the frog to come out of the well?

e Avessel full of water weighs 40kg. If it is one third filled, its weight becomes 20Kg. What is the weight of
the empty vessel?

e If 1 litre of water weighs 1 Kg, then how many cubic mm of water will weigh 0.1gm?

e Adigit n>3 is divisible by 3 but not divisible by 6. Which one of the following divisible by 4?

e  Which one of the following will have a minimum change in its value if 5 is added to both numerator and
the denominator of the fraction 2/3, 3/4, 4/5 and 5/6?
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e How many pairs of natural numbers are there such that the differences of whose squares is 63?

e A man takes half time in rowing a certain distance downstream than upstream. What is the ratio of the
speed instil water to the speed of the current?

e  The minimum number of points of intersection of a square and a circle is to?

e Acartravels from a place X to place Y at an average speed of vkm/hr, from Y to X at an average speed of
2v km/hr, again from X to Y at an average speed of 3v km/hr and again from Y to X at an average speed of
4v km/hr. then the average speed of the car for the entire journey.

e A person X can complete 20% of work in 8 days and another person Y can complete 25 per cent of the
same work in 6 days. If they work together, in how many days will 40% of the work be completed?

e What s the largest number among the following?

e  What is the missing term @ in the following?

e The letters from A to Z are numbered from 1 to 26 respectively. If GHI=1578 and DEF=912, then what is
ABC equal to?

e A shop owner offers the following discount options on an article to a customer:

e Asaresult of a 25 % hike in the price of rice, per kg, a person is able to purchase 6 kg less rice for Rs 1200.
What was the original price of rice per kg?

e The average score of a batsman after his 50th innings was 46.4. After 60th innings, his average score
increases by 2.6. What was his average score in the last ten innings?

e A bottle contains 20 litres of liquid A. 4 litres of liquid A is taken out of it and replaced by the same
guantity of liquid B. Again 4 litres of the mixtures is taken out and replaced by the same quantity of liquid
B. What is the ratio of the quantity of Liquid A to that of liquid B in the final mixture?

e How many different 5-letter words can be constructed using all the letters of the word "DELHI" so that
each word has to start with D and end with I?

e Seating arrangement

e Data Handling: What is the value of x in the table?

e Ifina particular year 12th January is a Sunday, then which one of the following is correct?

e Statement analysis

e Find which digit does the symbol stand?

e If you have two straight sticks of length 7.5 feet and 3.25 feet, what is the minimum length can be
measured?

e Number of sequence 14, 18, 20, 24, 30, 32....

e Find the missing letter?

e One page is torn from a booklet whose pages are numbered in the usual manner starting from the first
pages as 1. the sum of the numbers on the remaining pages is 195. The torn pages contain which of the
following numbers?

e Let A3BC and DE2F be four-digit numbers where each letter represents a different digit greater than 3. If
the sum of the numbers is 15902, then what is the difference between the values of A and D?

e Profit and loss

o Average

e Letx, ybe the volumes of; m, n be the masses of two metallic cubes P and Q respectively. Each side of Q
is two times that of P.and mass of Q is two times that of P.

e How many integers are there between one and hundred which have 4 as a digit but are not divisible by 4?

e Ais 16th from the left and in a row of boys and V is 18th from the right end. G is 11th from A toward the
right and 3rd from V towards the right end. How many boys are there in the row?

e Complete the sequence?

e Question-based on Direction test.

e Question-based on Syllogism.

e How many zeros are there at the end of the following product?

e Let XYZ be a three-digit number, where (X+Y+Z) is not a multiple of 3. Then (XYZ+YZX+ZXY) is not divisible
by?

e Letp,q, rands be natural numbers such that. Which one of the following is the largest natural number?

e How many five-digit prime numbers can be obtained by using all the digits 1,2, 3, 4 and 5 without
repetition of digits?
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Passage—1

In India, over the last decade or so, labour has been departing agriculture, but is only going to construction and
unregistered manufacturing which are not markedly better jobs. Services, where labour tends to be most
productive, are not generating the additional jobs the country needs. India will need 24 million or so jobs over the
next decade. The new sector, e-commerce, can at best close only half the jobs gap. Only those sectors that drive
domestic demand such as health and education can comfortably fill the other half.

1. Which one of the following is best Implied in the passage?

(a) Strong measures need to be taken to reduce the rural to urban migration of labour.

(b) The working condition in construction and unregistered manufacturing needs to be improved.
(c) service sector has been reducing the problem of unemployment.

(d) Increased social sector spending is imperative for large-scale job creation.

Answer: (d)

Passage-2

In India, the current focus on the right to privacy is based on some new realities of the digital age. A right is a
substantive right only if it works in all situations, and for everyone. A right to free expression for an individual
about her exploitation, for instance, is meaningless without actual availability of security that guarantees that
private force cannot be used to thwart this right. The role of the State, therefore, is not just to abstain from
preventing rightful free expression, but also to actively ensure that private parties are not able to block it.

1. On the basis of the above passage, the following assumptions have been made:

2. State should have some institutions to ensure its appropriate role in a digital society.
3. State should ensure that private parties do not violate the citizens' right to privacy.
4. Digital economy is not compatible with the idea of not violating the citizens’ privacy.
2. Which of the above assumptions is/are valid?

(a)1and 2

(b) 3 Only

(c)1and3

(d) 2 only

Answer: (a)

Passage—3

One of the biggest ironies around water is that it comes from rivers and other wetlands. Yet it is seen as divorced
from them. While water is used as a resource, public policy does not always grasp that it is a part of the natural
ecosystem. Efforts at engineering water systems are thus efforts at augmenting water supply rather than
strengthening the capacities of ecological systems.

3. Which one of the following is the most logical and rational inference that can be made from the above
passage?

(a) Rivers and other wetlands should be protected under Ramsar Convention.

(b) Engineering water systems should be modernized and further augmented.

(e) wetlands need to be reinforced as more than just open sources or water.

(d) Water supply should not be free of cost so as to prevent its misuse or overuse.

Answer: (c)

Passage-4

Asset allocation is the most important investment decision we will ever make, and sadly, most of us do not give
that decision the importance it deserves. We are adamant about seeking predictability with our future. We tend
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to think of investing in risky assets as extremely volatile and value eroding. We also dislike fluctuating returns and
the loss of control of investment. We think our money is best left idle unproductive but safe. There is no asset
that is risk-free. We could lose our jobs, our homes can lose value, our banks can go bankrupt, our bonds can
default, the government can collapse and companies we chose fondly may cease to exist. But we cannot live life
assuming that all these extreme events are waiting to happen, and all at the same time. All these extreme forms
or risks we know will not manifest at the same time.

4. Which one of the following statements best implies the suggestion given by the author of the passage?
(a) Distribute your wealth across different kinds of assets so that your risks would be minimized.
(b) Risk-taking behaviour should be a necessary component of your Personality if you want to generate wealth.

(c) while making investments, find a trustworthy asset management organization which would manage your
wealth for you.

(d) You should know that investing your money is a risky business.

Answer: (b)

Passage-5

Although most of the Genetically Modified (GM) crops cultivated now are genetically engineered for a single trait,
in future, crops genetically engineered for more than one trait will be the norm. Thus, biotechnology's role in
agriculture and the regulation or the same cannot be understood solely in the context of the current generation
of GM crops. Instead, there is a need to take a comprehensive look, taking into account various aspects, including
socio-economic impacts, so that the potential or the technology can be harnessed while minimizing negative
impacts. Given the importance of biotechnology in developing varieties that can help in climate change mitigation
and adaptation, not using biotechnology as a part of the climate change action plan cannot be an option.
Domestic regulation of biotechnology cannot be viewed in isolation of trade policy and obligations under various
international treaties and conventions.

5. With reference to the above passage, the following assumptions have been made:
1. Biotechnology regulation is an evolving process.
2. Participation of people is needed in policy decisions regarding biotechnology regulation.
3. Biotechnology regulation should take into account socio-economic aspects in decision-making.
4

Wider involvement of political- executive in biotechnology regulation improves its effectiveness in dealing
with the country’s trade Policies and international obligations.

Which of the above assumptions are valid?
(a) 1,2 and 4 only

(b) 1 and 3 only

(c) 2,3 and 4 only

(d)1,2,3and 4

Answer: (b)

6. Which one of the following statements best implies the crux of the passage?

(a) Precautionary principle is not given importance in current debate on developing GM crops.
(b) Biotechnology is not currently used in climate change mitigation and adaptation mechanisms.
(c) Biotechnology’s role is not confined to the current priorities of developing GM crops.

(d) The negative Impacts of not biotechnology are properly understood.

Answer:(c)

7. How many zeroes are there at the end of the following product?
I1x5x10x15x20x25x30x35x40x45x50x55x60

(a) 10

(b) 12
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(c)14
(d) 15
Answer:(a)

8. Let XYZ be a three-digit number, where (x + y + Z) is not a multiple of 3. Then (XYZ + YZX + ZXY) is not divisible
by

(a)3

(b) 9

(c) 37

(d)(X+Y+2)

Answer:(b)

9. Let p, g, r and s be natural numbers such that p - 2016 = g + 2017 = r — 2018 = s + 2019 which one of the
following is the largest natural number?

(@p
(b) g
(c)r
(d)s
Answer:(c)

10. How many five-digit prime numbers can be obtained by using all the digits 1, 2, 3, 4 and 5 without repetition
of digits?

(a) Zero

(b) One

(c) Nine

(d) Ten

Answer:(a)

11. In the sum ®+1®+ 5®+®®_® 1®® for which digit does the symbol ® stand?
(a)2

(b) 3

(c)4

(d)5

Answer:(b)

12. If you have two straight sticks of length 7.5 feet and 3.25 feet, what is the minimum length can you measure?
(a) 0.05 foot

(b) 0.25 foot

(c) 1 foot

(d) 3.25 feet

Answer:(c)

13. A simple mathematical operation in each number of the sequence 14, 18, 20, 24, 30, 32, ..... results in a
sequence with respect to prime numbers. Which one of the following is the next number in the sequence?

(a) 34
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(b) 36
(c) 38
(d) 40
Answer:(c)

14. One page is torn from a booklet whose pages are numbered in the usual manner starting from the first page
as 1. The sum of the numbers on the remaining pages Is 195. The torn page contains which of the following
numbers?

(a) 5,6
(b)7,8
()9, 10
(d) 11, 12
Answer:(b)

15. Consider the following arrangement that has some missing letters: abab_b_bcb: dcdcded d

The missing letters which complete the arrangement are
(a)a, b, c,d

(b)a, b,d, e

(c)a,c,c e

(d)b,c,d, e

Answer:(c)

16. Let A3BC and DE2F be four-digit numbers where each letter represents a different digit greater than 3. If the
sum of the numbers is 15902, then what is the difference between the values of A and D?

(@)1
(b) 2
(c)3
(d) 4
Answer:(c)

17. Two statements S1 and S2 are given below followed by a Question:

S1: There are not more than two figures on any page of a 51-page book.

S2: There is at least one figure on every page.

Are there more than 1oo figures in that book?

Which one of the following is correct in respect of the above Statements and the Question?

(a) Both S1 and S2 are sufficient to answer the Question, but neither S1 alone nor S2 alone is sufficient to answer
the Question.

(b) S1 alone is sufficient to answer the Question.
(c) S1 and S2 together are not sufficient to answer the Question.
(d) S2 alone is sufficient to answer the Question.

Answer:(c)

18. Consider the following data:

Average marks in English Average marks in Hindi
Girls 9 8
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Boys 8

Overall average marks 8.8

What is the value of x in the above table?
(a) 7.8

(b) 7.6

(c)7.4

(d)7.2

Answer:(a)

19. A family of two generations consisting of six members P, Q, R, S, T and U has three males and three females.
There are two married couples and two unmarried siblings. U is P’s daughter and Q is R’s mother-in-law. T is an
unmarried male and S is a male. Which one of the following is correct?

(a) Ris U's husband.
(b) Ris S's wife.

(c) Siis unmarried.

(d) None of the above
Answer:(d)

20. If in a particular year 12th January is a Sunday, then which one of the following is correct?
(a) 15th July is a Sunday if the year is a leap year.

(b) 15th July is a Sunday if the year is not a leap year.

(c) 12th July is a Sunday if the year is a leap year.

(d) 12th July is not a Sunday if the year is a leap year.

Answer:(c)

Directions for the following 7 (Seven) items:

Read the following five passages and answer the items that follow. Your answers to these items should be based
on the passages only.

Passage-1

Private investment in general is volatile. Foreign private investment is more volatile because the available
investment avenues are significantly greater (i.e., the entire world). Therefore, the responsibility of providing
employment cannot be left to Foreign Direct investment (FDI). The current FDI inflows are volatile over time and
across sectors and regions, which is a necessary consequence of their search for the highest returns. The adverse
consequences are unstable employment and an accentuation of income and regional inequalities. A probable
positive consequence of foreign investment is the inflow of new technology and its subsequent diffusion.
However, the technology diffusion is not at all certain because the existing state of physical and human capital in
India may prove inadequate for the diffusion.

21. With reference to the above passage, the following assumptions have been made:
1. Relying on foreign investment in the long run is not an economically sound policy.
2. Policies must be undertaken to reduce volatility in foreign private investment.
3. Policies must be undertaken to strengthen domestic private investment.
4. Publicinvestment should be given priority over private investment.
5. Substantial public investment in education and health should be undertaken.
Which of the above assumptions is/are valid?
(a)1,2and 4
(b) 1,3 and5
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(c)2,4and5
(d) 3 only
Answer:(d)

Passage-2

Many opportunities to harness the highly skewed, seasonal and spatial distribution of monsoon flows, which
occur in a four-month period from June to September annually, have been lost. Since these few months account
for most or the rainfall and consequent freshwater availability, the need for holding rainwater in reservoirs, for
subsequently releasing it for use over the year, is a necessity nobody can afford to overlook. Climate change will
continue to affect weather conditions and create water shortages and excesses. While millions suffer from
droughts and floods, waters in the country's many rivers flow unutilized, and are discharged into the sea every
year.

22. With reference to the above passage, which of the following could be the most rational and practical
implications for India?

1. Inter-linking of rivers should be undertaken.
2. A network of dams and canals should be built across the country for proper distribution of water.
3. Farmers should be provided easy loans for digging borewells.
4. Usage or water for agriculture should be regulated by law.
5. Distribution of river water among regions should be regulated by the Union Government.
Select the correct answer using the code given below.
(a)1and 2
(b) 2,4 and 5
(c)1,3and 4
(d)2,3and5
Answer:(a)

Passage-3

People will invest in education whenever they are granted the economic freedom to fully enjoy
benefits Again, this is for the obvious reason that the return on education increases as the level
of economic freedom rises. When people, thanks to lower tax rates, are allowed to retain
of the higher income that they gain from incremental level of education, it makes sense to invest in education. On
the other hand, when the government decides to tax the higher income of educated individuals at even higher
rates, it makes very little sense to invest in educating oneself further. The same incentives apply to parents who
decide on whether to invest in their children's education.

23. With reference to the above passage, the following assumptions have been made:
1. Lower tax rates in a country invariably translate into greater investments in higher education.
2. Investment in the education of children ensures their economic freedom.
3. Economic freedom has a positive impact on building up human capital.

Which of the above assumptions is/are valid?

(a) 1 only

(b) 2 only

(c) 3 only

(d)1,2and3

Answer:(a)

Passage-4

Corp Office-Nandanavanam Complex, 3rd Floor, S.R.Nagar, Hyderabad, Mob no- 7997992479
Main Campus- Padmashali Seva Samajam Boys Hostel Opp: St. Martins Eng. College,
Dulapally Road, Kompally, Hyderabad 500014, Mob No-7997992487/88



IGNITE GEN.STUDIES & CSAT

Our urban bodies cannot possibly ensure sustainable delivery of water in our cities unless financing mechanisms
are put in place. Water delivery requires heavy investment in collecting it from a natural source, treating it to
make it potable, and laying a distribution network of pipes for delivery to the users. It also requires investments
in sewerage infrastructure and sewage treatment plants so that the sewers can carry the wastewater to these
plants to ensure that no untreated sewage is discharged back into natural water bodies. If our cities were rich
enough to meet the entire cost, water could be delivered free. They are not.

24. What is the most logical and crucial message conveyed by the passage?

(a) Urban local bodies must recover costs through user charges.

(b) Urban local bodies are not efficient enough to meet the water requirements of our cities.
(c) Water shortage in our cities is a perennial problem that cannot be solved.

(d) In view of the water crisis in our cities, there is an urgent need to limit the population of cities by adopting an
upper limit of population size.

Answer:(b)

25. With reference to the above passage, the following assumptions have been made:
1. Rich cities only can ensure sustainable delivery of water.
2. Sustainable delivery of water in cities means much more than supplying water to households.
Which of the above assumptions is/are valid?
(a) 1 only
(b) 2 only
(c) Both 1 and 2
(d) Neither 1 nor 2
Answer:(b)

Passage-5

In India, agriculture still engages about half of workforce, and about 85 per cent of its farms mall and marginal.
Compared to China Vietnam, which have experienced fast structural and rural transformation, India's story is of
slow transformation. As a result, poverty reduction in India was at a much slower pace during 1988—2014,
compared to China and Vietnam. India's poverty reduction was slow during 1988-2005, but during 2005-2012, it
accelerated dramatically—almost three times faster than during the earlier period. What did India do during this
period? Research reveals that the relative price scenario changed significantly (by more than 50%) in favour of
agriculture in the wake of rising global prices. This boosted private investments in agriculture by more than 50%.
As a result, agri-GDP growth touched 4/1% during 2007-2012 as against 2.4% during 2002—2007. The net surplus
or agri-trade touched $25 billion in 2013-2014: real farm wages rose by 7% per annum. All this led to
unprecedented fall in poverty.

26. With reference to the above passage, the following assumptions have been made:
1. Structural and rural transformation is impossible when farms are mainly small arid marginal.
2. A good price incentive can trigger investments in agriculture.
3. India needs to build value chains for high-value agri-products like livestock and horticulture.
4. Higher global prices of agricultural commodities are essential for India's poverty reduction.

Which of the above assumptions are valid?

(a)1and 3

(b)2and 4

(c)2and 3

(d)3and 4

Answer:(b)
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27. Which one of the following statements best reflects the critical message of the passage?
(a) India should create large- scale off-farm rural employment to reduce poverty in the near future.

(b) India should create a large number of farmer producer companies

(c) Private investment in agriculture should be given priority over public investment.
(d) Inclusive agricultural growth is key to reduce poverty in the near future.
Answer:(C)

28. Two Statements S 1 and S2 are given below with regard to four numbers P, Q, R and S followed by a Question:
S1: Ris greater-than P as well as Q.

S2:Sis not the largest one.

Among four numbers P, Q, R and S which one is the largest?

Which one of the following is correct in respect of the above Statements and the Question?

(a) S1 alone is sufficient to answer the Question.

(b) S2 alone is sufficient to answer the Question.

(c) S1 and S2 together are sufficient to answer the Question, but neither S1 alone nor S2 alone is sufficient to
answer the Question.

(d) S1 and s2 together are not sufficient to answer the Question.
Answer:(c)

29. Two Statements Si and S2 are given below followed by a Question:
S1: nis a prime number.

S2: n leaves a remainder of 1 when divided by 4.

If nis a unique natural number between 10 and 20, then what is n?

Which one of the following is correct in respect of the above Statements and the Question?
(a) S1 alone is sufficient to answer the Question.

(b) S2 alone is sufficient to answer the Question.

(c) S1 and S2 together are sufficient to answer the Question, but neither S1 alone nor S2 alone is sufficient to
answer the Question.

(d) S1 and S2 together are not sufficient to answer the Question.
Answer:(d)

30. Two Statements S1 and S2 are given below with regard to two numbers followed by a Question:
S1: Their product is 21.

S2: Their sum is 10.

What are the two numbers?

Which one of the following is correct in respect of the above Statements and the Question?
(a) S1 alone is sufficient to answer the Question.

(b) S2 alone is sufficient to answer the Question.

(c) S1 and S2 together are sufficient to answer the Question, but neither S1 alone nor S2 alone is sufficient to
answer the Question.

(d) S1 and S2 together are not sufficient to answer the Question.

Answer:(c)
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31. A man walks down the backside of his house straight 25 meters, then turns to the right and walks 50 meters
again; then he turns towards left and again walks 25 meters. If his house faces to the East, what is his direction
from the starting point?

(a) South-East
(b) South-west
(c) North-East
(d) North-west
Answer:(d)

32. Two Statements are given followed by two Conclusions:
Statements:

All numbers are divisible by 2.

All numbers are divisible by 3.

Conclusion-|

All numbers are divisible by 6.

Conclusion-II

All numbers are divisible by 4.

Which of the above Conclusions logically follows/follow from the two given Statements?
(a) Only Conclusion-I

(b) Only Conclusion-ll

(c) Neither Conclusion-I nor conclusion-II

(d) Both Conclusions-1 and Conclusion-ll

Answer:(a)

33. Two Statements are given followed by two Conclusions:
Statements:

All cats are dogs.

All cats are black.

Conclusion-I:

All dogs are black.

Conclusion-Il:

Some dogs are not black.

Which of the above Conclusions logically follows/follow from the two given Statements disregarding commonly
known facts?

(a) Only Conclusion-I

(b) Only Conclusion-ll

(c) Neither Conclusion-I nor Conclusion-ll
(d) Both Conclusions-1 and Conclusion-ll
Answer:(c)

34. Consider the following sequence of numbers:

51473985726315

863852243496

How many odd numbers are followed by the odd number in the above sequence?
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(@5
(b) 6
(c)7
(d) 8
Answer:(b)

35. A is 16th from the left end in a row or boys and V is 18th from the right end. Q is 11th from A towards the
right and 3rd from V towards the right end. How many boys are there in the row?

(a) 40

(b) 41

(c) 42

(d) Cannot be determined due to insufficient data
Answer:(b)

36. Three Statements S1, S2 and S3 are given below followed by a Question:

S1: Cis younger than D, but older than A and B.

S2: D is the oldest.

S3: Ais older than B.

Who among A, B, C and D is the youngest?

Which one of the following is correct in respect of the above Statements and the Question?
(a) S1 alone is sufficient to answer the Question.

(b) S1 and S2 together are sufficient to answer the Question.

(c) S2 and S3 together are sufficient to answer the Question.

(d) S1 and S3 together are sufficient to answer the Question.

Answer:(d)

37. How many integers are there between 1 and 100 which have 4 as a digit but are not divisible by 4?
(a) 5

(b) 12

(c)12

(d) 13

Answer:(c)

38. Let x, y be the volumes; m, n be the masses of two metallic cubes P and Q respectively. Each side of Q is two
times that of P and mass of Q is two times that of P. Let u=m / x and V = n / y. which one or the following is
correct?

(a)u=4v

(b) u=2v

(c)v=u

(d)v=4u

Answer:(a)

39. The average age of a teacher and three students is 20 years. If all the three students are of same age and the
difference between the age of the teacher and each student is 20 years, then what is the age of the teacher?
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(a) 25 years
(b) 30 years
(c) 35 years
(d) 45 years
Answer:(d)

40. A person bought a car and sold it for Rs. 3, 00,000. If he incurred a loss of 20%, then how much did he spend
to buy the car?

(a) Rs. 3, 60,000
(b) Rs. 3, 65,000
(c) Rs. 3, 70,000
(d) Rs. 3, 75,000
Answer:(d)

Directions for the following 6 (six) items:

Read the following five passages and answer the items that follow. Your answers to these items should be based
on the passages only.

Passage-1

Spanish ships in the late 16th century first brought the potato tuber from South America to Europe whereby in
the early 19th century, it bad become a reliable backup to cereal crops, particularly in the cold, rain-soaked soils
of Ireland. The Irish were soon almost wholly dependent on the potato as their staple food. And they were
planting primarily one prodigious variety, the ‘Lumper' potato, whose genetic frailty would be cruelly exposed by
the fungus 'Phytophthora infestans’. In 1845, spores of the deadly fungus began spreading across the country,
destroying nearly all the Lumpers in its path. The resulting famine killed or displaced millions.

41. Which one or the following statements best reflects the critical message or the passage?

(a) For introducing any foreign plant into a country, the soil and climate conditions of that country should be
suitable.

(b) As a staple food of a country, tuber crops like potato cannot replace cereal crops.

(c) Some or the fungal infections or plants cannot be prevented or stopped from spreading across large areas.

(d) Relying on a homogeneous food source is not desirable.

Answer:(d)

Passage-2

India is at once among the fastest growing global economies and home to the largest number of malnourished
children'in the world. There are regions where malnutrition is not the exception but the norm. And across the
country, malnutrition is the cause of death for roughly half the 1-3 million children who die before their fifth
birthday each year. Even those children who survive suffer permanently from the damage that has already been
done to their bodies and minds from not getting enough of the right foods and nutrients. Around 44 million
children under 5 are stunted. That makes it harder for them to learn in school and subsequently earn a living as
adults. Their lifetime earnings potential is almost a quarter less than that or their healthy peers.

42. With reference to the above passage, which of the following is/are the most rational and practical
implication/ Implications?

1. India’s Public Distribution System should be monitored by the Union Government.
2. Girls should be encouraged to delay marriage and first pregnancy.
3. Mothers should be encouraged to breastfeed their children immediately after birth.
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4. The supply of safe drinking water and proper sanitation facilities to all should be ensured.

5. Authorities should ensure the vaccination as prescribed
Select the correct answer using the code given below.
(a)1,2,3and 4
(b)2,3,4and5
(c) 1 only
(d) 3and 5 only
Answer:(c)

Passage—3

The pulse variety ‘Pusa Arhar 16’ has the potential to be grown in the paddy-growing of Punjab, Haryana and
Uttar Pradesh and eventually in all of India. Its yield (about 2000 kg/hectare) will be significantly greater than
those of the existing varieties and because its size will be uniform, it will be amenable to mechanical harvesting,
an attractive feature for farmers in northern India who currently use this technology for paddy. Most important,
Arhar straw, unlike paddy straw, is green arid can be ploughed back into the soil. In Paddy straw, the problem is
the high silica content, which does not allow for easy decomposition. In the case of Arhar, the farmer, even after
combine harvesting, just needs to run a rotovator to cut the leftover straw into pieces, which can be ploughed
back and will decompose very fast. AU this is difficult with leftover paddy stalks that cannot be easily salvaged or
ploughed back. Farmers, therefore, choose the easiest option of simply burning it.

43. Which of the following are the most rational inferences that can be made from the passage?
1. Farmers' income will be higher with pulse cultivation than with paddy cultivation.
2. Pulse cultivation causes less pollution as compared to paddy cultivation.
3. Pulse straw can be used to improve soil quality.
4. Inthe context of northern Indian agriculture, paddy straw has no usefulness.
5. Mechanized agriculture is the main cause for stubble burning.

Select the correct answer using the code given below.

(a) 2,3 and5

(b)1,4and5

(c) 2 and 3 only

(d) 1 and 4 only

Answer:(d)

Passage-4

In India, authorities always look to store the maximum amount of water in reservoirs during the monsoon season,
which is then used for irrigation and generation of electricity during the summer months. It is an internationally
accepted practice that the water level or a reservoir should be kept below a certain level before the onset of
monsoon season. This is so that when monsoon rains come, there is space to store the excess rainwater and also
so that water can be released in a regulated manner. But the authorities store the maximum amount of water in
reservoirs even before the close of the monsoon, only to ensure greater electricity generation and irrigation.

44. With reference to the above passage, the following assumptions have been made:

1. High risks involved in holding maximum water in reservoirs are due to our over-dependence on hydro
power projects.

2. Storage capacity of dams should not be fully used before or during monsoon season.
3. Role of dams in flood control is underestimated in India.
Which of the above assumptions is/are valid?
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(a) 1and 2 only
(b) 2-only

(c) 3 only
(d)1,2and3
Answer:(d)

Passage-5

Economic liberalization in India was shaped largely by the economic problems of the government than by the
economic priorities of the people or by the long-term development objectives. Thus, there were limitations in
conception and design which have been subsequently validated by experience. Jobless growth, persistent poverty
and rising inequality have mounted as problems since economic liberalization began. And all these years later,
four quiet crises confront the economy: agriculture infrastructure, industrialization and education as constraints
on the country’s future prospects: These problems must be resolved if economic growth has to be sustained and
transformed into meaningful development.

45. Which of the following is/are the most rational and logical Inference/ Inferences that can be made from the
passage?

1. Itis essential to rethink and redefine the economic role of the state in the quest for development.

2. India has not made effective implementation of its policies in social sectors nor made sufficient
investments in them.

Select the correct answer using the code given below.
(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Answer:(a)

46. With reference to the above passage, the following assumptions have been made:

1. India's economy needs to be greatly integrated with global economy so as to create large number of jobs
and to sustain its growth momentum.

2. Economic liberalization would cause large economic growth which would reduce poverty and create
sufficient employment in the long run.

Which of the above assumptions is/are valid?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Answer:(d)

47. A shop owner offers the following discount options on an article to a customer:
1. Successive discounts or 10% and 20%, and then pay a service tax of 10%
2. Successive discounts of 20% and 10%, and then pay a service tax of 10%
3. Pay a service tax or 10% first, then successive discounts of 20% and 10%
Which one of the following is correct?
(a) 1 only is the best option for the customer.
(b) 2 only is the best option for the customer.
(c) 3 only is the best option for the customer.
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(d) All the options are equally good for the customer.

Answer:(d)

48. The letters from A to Z are numbered from 1 to 26 respectively. If GHI = 1578 and DEF = 912, then what is ABC
equal to?

(a) 492
(b) 468
(c) 262
(d) 246
Answer:(d)

49. What is the missing term in the following?
ACPQ : BESU:: MNGI: @

(a) NPJL

(b) NOIJM

(c) NPIL

(d) NPJM

Answer:(d)

50. what is the largest number among the following?
(a) (1/2)°

(b) (1/4)?

(c) (1/3)*

(d) (1/6)*

Answer:(c)

51. What is the greatest length x such that 3 %2 m and 8 % m are integral multiples of x?
(a)1%m

(b)11/3m

(c)1%m

(d)1%m

Answer:(d)

52. Consider the following data:
Year Birth rate|Death rate
1911 -192148.1 35.5
1921 -1931/46.4 36.3

1931 - 1941}45.2 31.2

1941 - 1951]39.9 27.4

1951 - 196141.7 22.8

1961-197141.1 18.9
1971 -199837.1 14.8
For which period was the natural growth rate maximum?
(@) 1911 - 1921

(b) 1941 - 1951
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(c) 1961 - 1971
(d) 1971 - 1981
Answer:(d)

53. The recurring decimal representation 1.272727... is equivalent to
(a) 13/11

(b) 14/11

(c) 127/99

(d) 137/99

Answer:(b)

54. What is the least four-digit number when divided by 3, 4, 5 and 6 leaves a remainder 2 in each case?
(a) 1012

(b) 1022

(c) 1122

(d) 1222

Answer:(b)

55. In adult Population or a city, 40% men and 30% women are married. What is the percentage of married adult
population if no man marries more than one woman and no woman marries more than one man; and there are
no widows and widowers?

(@)331/7%
(b) 34%
(c)342/7%
(d) 35%
Answer:(c)

56. What is the remainder when 51 x 27 x 35 x 62 x 75 is divided by 1007?
(a) 50

(b) 25

(c)5

(d)1

Answer:(a)

57. A sum of Rs. 2,500 is distributed among X, Y and Z in the ratio 1/2 : 3/4 : 5/6 . What is the difference between
the maximum share and the minimum share?

(a) Rs. 300
(b) Rs. 350
(c) Rs. 400
(d) Rs. 450
Answer:(c)
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58. For what value of it, the sum of digits in the number (10" + 1) is 2?

(a) For n=0only

(b) For any whole number n

(c) For any positive integer n only
(d) For any read number n
Answer:(b)

59. In a class, there are three groups A, B and C. If one student from group A and two students from group B are
shifted to group C, then what happens to the average weight of the students of the class?

(a) It increases.

(b) It decreases.

(c) It remains the same.

(d) No conclusion can be drawn due to insufficient data.
Answer:(c)

60. How many different sums can be formed with the denominations Rs. 50, Rs. 100, Rs. 200, Rs. 500 and Rs.
2,000 taking at least three denominations at a time?

(a) 16
(b) 15
(c)14
(d) 10
Answer:(d)

Directions for the following 6 (six) items:

Read the following five passages and answer items that follow. Your answers to these items should be based on
the Passages only.

Paaaage-1

Bank credit to the industrial sector has started shrinking. Its decline has been a serious concern as credit growth is
essential to revive investment. The problem's Origins lie in the incomplete reforms of the last 25 years. An
institutional change that should have followed the 1991 reforms should have been setting up of a resolution
corporation for banks. In a market economy with booms and busts, banks should be allowed to be set up and to
fail. Today, we cannot shut down banks because there is no proper system to shut them down. Weak loss-making
banks continue to need more capital.

61. Which one of the following is the most logical and rational inference that can be made from the above
passage?

(a) Indian banking system is not able to help the country in its economic growth.

(b) Economic reforms that started in 1991 have not helped in improving the economy to expected levels.

(c) India lacks the institutional mechanism to deal with the failure of banks.

(d) Encouraging the foreign investments in our industrial sector is a good alternative to this sector's dependence
on banks for credit.

Answer:(c)

Passage-2

India has tremendous potential for solar energy. We all realize that we have to stop burning fossil fuels to meet
our energy needs. But certain renewable resources are still going through their cost Curves and learning curves to
get the required amount of output. The Indian Government has strongly committed to its targets of reducing
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emissions by 33 percent by 2030, and towards this it has initiated a strong push towards a gas-based economy
and has also invested heavily in renewable energy. However, business houses are wary of investing too heavily in
renewable energy at a time when the technology is not yet ready.

62. Which one of the following is the most logical and rational inference that can be made from the above
passage?

(a) India's commitment to reduce emissions by 33% is unlikely to be achieved.

(b) India should import gas rather than invest in renewable resources.

(c) Getting renewable resources to market too soon may be costly.

(d) India should put in more efforts in the exploration of natural gas.

Answer:(c)

63. With reference to the above passage, the following assumptions have been made:

1. Governments often provide inefficient and costly subsidies for technologies that may not be ready in the
near future.

2. India’s commitment of reducing emissions by 33% by 2030 shall be on the basis of gas-based economy.
Which of the above assumptions is/are valid?
(a) 1 only
(b) 2 only
(c) Both1and 2
(d) Neither 1 nor 2
Answer:(d)

Passage-3

Genome editing is different from genome modification. Genome editing typically involves finding the part of a
plant genome that could be changed to render it less vulnerable to disease, or resistant to certain herbicides, or
to increase yields. Researchers use ‘molecular scissors’ to dissect the genome and repair it, Which is a process
that occurs naturally when plants are under attack from diseases and can throw up new mutations that enable
the plant to survive future attacks. This evolutionary process can effectively be speeded up now that it is possible
to examine plant genomes in detail in laboratories, and create mechanisms through which the relevant genes can
be altered very precisely.

64. With reference to the above passage, the following assumptions have been made:
1. Genome editing does not require the transfer of genes from one plant to another.

2. Through genome editing, the chosen genes can be altered precisely in a manner akin to the natural
process that helps plants to adapt to the environmental factors.

Which of the above assumptions is/are valid?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Answer:(b)

Passage-4

Many people understand the connection n solid waste management and health in terms of the consequences of
unattended heaps of garbage which become home for flies and other Vermin. However, there is another aspect
that is not well-understood, that is, what happens when unscientific solid waste management combines with
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poor drainage and dumping of untreated sewage into drains which are meant to carry storm water during rains.
The result is choked drains which are full of stagnant water breeding mosquitoes, resulting in the spread of
water-borne diseases.

65. In the context of India, which one of the following statements best reflects the eritical message of the
passage?
(a) In India, the drainage networks are not separate for sewerage and storm water.

(b) Urban local bodies do not have enough resources and legislative authority to deal with the problems or waste
management.

(c) Solid waste management should be integrated with the maintenance of drainage and sewerage networks.

(d) Bad management of solid waste and sewerage systems by our municipalities is the reason for drinking water
shortages in our cities.

Answer:(c)

Passage-5

In Part lll of the constitution which assures people certain fundamental rights, Article 25 proclaims that “all
persons are equally entitled to freedom of conscience and the right freely to profess, practice and propagate
religion”. What people fail to notice is that this Proclamation is prefixed with the words “subject to public order,
morality, health and to the other provisions of this Part”, Which set conditions precedent for the legal protection
of religious practices of any Community. The closing words of this prefatory rider in Article 25 virtually constitute
a subordination clause placing other fundamental rights mentioned in Part Ill over and above the right to religious
freedom. Among those other fundamental rights is the rights to equality before law and equal protection of laws-
assured at the outset and elaborated in later articles to mean, inter alia, that the State shall not deny equal
protection of laws to any person or group of persons on the basis of religion alone.

66. What is the most logical inference from the above passage?

(a) State shall not interfere with the religious affairs of the Citizens.

(b) Religious freedom under the Constitution is open to State intervention

(c) Religious freedom of the citizens is not covered under fundamental rights.
(d) Religious practices of any Community are immune to State laws.
Answer:(d)

67. How many different 5-letter words (with or without meaning) can be constructed using all the letters of the
word ‘DELHI’ so that each word has to start with D and end with I?

(a) 24

(b) 18
(c)12

(d)6
Answer:(b)

68. A bottle contains 20 litres of liquid A. 4 litres of liquid A is taken out of it d replaced by same quantity of liquid
B. Again 4 litre of the mixture is taken out and replaced by same quantity of liquid B. What is the ratio of quantity
of liquid A to that of liquid B in the final mixture?

(a)a:1
(b)5:1
(c)16:9
(d)17:8
Answer:(c)
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69. The average score of a batsman after his 50th innings was 46.4. After 60th innings, his average Score
increases by 2.6. What was his average score in the last ten innings?

(a) 122

(b) 91

(c) 62

(d) 49
Answer:(c)

70. As a result of 25% hike in the price of rice per kg, a person is able to purchase 6 kg less rice for Rs. 1,200. What
Was the Original price of rice per kg?

(a) Rs. 30
(b) Rs. 40
(c) Rs. 50
(d) Rs. 60
Answer:(b)

71. A person can complete 20% of work in 8 days and another person y can complete 25% of the same work in 6
days. If they work together, in how many days will 40% of the work be completed?

(a) 6

(b) 8

(c) 10

(d) 12
Answer:(a)

72. A car travels from a place X to place Y at an average speed of v km/hr from y to X at an average speed of 2v
km/hr, again from X to y at an average speed of 3v km/hr and again from y to x at an average speed of 4v km/hr.
Then the average speed of the car for the entire journey

(a) is less than v km/hr

(b) lies between v.and 2v km/hr
(c) lies between 2v and 3v km/hr
(d) lies between 3v and 4v km/hr
Answer:(b)

73. Consider the following statements:
1. The minimum number of points of intersection of a square and a circle is 2.
2. The maximum number of points of intersection of a square and a circle is 8.

Which of the above statements is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Answer:(b)
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74. A man takes half time in rowing a certain distance downstream than upstream. What is the ratio or the speed
in still water to the speed of current?

(a)1:2
(b)2:1
(c)1:3
(d)3:1
Answer:(d)

75. How many pairs of natural numbers are there such that the difference of whose squares is 63?
(a3

(b) 4

(c)5

(d) 2

Answer:(a)

76. Which one of the following will have minimum change in its value if s is added to both numerator and the
denominator of the fractions 2/3, 3/4, 4/5 and 5/6?

(a) 2/3
(b) 3/4
(c) 4/5
(d) 5/6
Answer:(d)

77. A digit n > 3 is divisible by 3 but not divisible by 6. Which one of the following is divisible by 4?
(a) 2n

(b) 3n

(c)2n+4

(d)3n+1

Answer:(d)

78. If 1 litre of water weighs 1 kg, then how many cubic millimeters of water will weigh 0.1 gm?
(@)1

(b) 10

(c) 100

(d) 1000
Answer:(c)

79. A vessel full of water weighs 4o kg. If it is one-third filled, its weight becomes 20 kg. What is the weight of the
empty vessel?

(a) 10 kg
(b) 15 kg
(c) 20 kg
(d) 25 kg
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Answer:(a)

80. A frog tries to come out of a dried well 4.5 m deep with slippery walls. Every time the frog jumps 30 cm, slides
down 15 cm. what is the number of jumps required for the frog to come out of the well?

(a) 28
(b) 29
(c) 30
(d) 31
Answer:(b)
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